Notations:

1.0ptions shown in green color and with v icon are correct.
2.0ptions shown in red color and with = icon are incorrect.

Question Paper Name:
Subject Name:
Creation Date:
Duration:

Total Marks:

Display Marks:

Share Answer Key With Déelivery
Engine:

Actual Answer Key:
Calculator:

Magnifying Glass Required?:
Ruler Required?:

Eraser Required?:

Scratch Pad Required?:

Rough Sketch/Notepad Required?:
Protractor Required?:

Show Watermark on Console?:
Highlighter:

Auto Save on Console?:

Group Number :

Group Id:

Group Maximum Duration :
Group Minimum Duration :
Show Attended Group?:
Edit Attended Group? :
Break time:

Group Marks:

IsthisGroup for Examiner?:

Revisit allowed for group Instructions? :

Maximum Instruction Time:
Minimum Instruction Time:

Section Id :
Section Number :

Education Consultant India Ltd.

GRADE Il DASS 19th July 2019 Shift 3
GRADE Il DASS

2019-07-19 19:30:57

120

200

Yes

No

Yes
None
No
No
No
No
No
No
Yes
No
No

Mental Ability1

1
586180192
0

0
No
No
0
20
No
Yes
0

0

Mental Ability1

586180196
1



Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section I1d: 586180271
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 5861804055 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the letter cluster which is related to third letter cluster in the same way as the second letter cluster is related to
first letter cluster.

PROUD : MOMSA : : LOGICAL : ?
Options:

1. « ILDGZYI

7 % INDGZXI

3. % IMDGZYJ

1. v IMDGZYI

Question Number : 1 Question Id : 5861804055 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

I¢ U TEE IA S A IO W T I RE T TS . W e ¥ g7 IO THE TeT 07 W @
Taoa gl

PROUD : MOMSA : : LOGICAL : ?
Options:

1. « ILDGZYI

2 % INDGZXI



3. % JMDGZYJ

4. v IMDGZYI

Question Number : 2 Question Id : 5861804056 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the number which is related to third number in the same way as the second number is related to first number.

3312:46 21842 :7
Options:

1. v 170

? % 175

3. % 180

A % 185

Question Number : 2 Question Id : 5861804056 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

IF T T S Ol TE ¥ 3@ e ¥ FET ¢, B e ¥ gl s ugelr wEw ¥ wEfia

3312 : 46 11842 : ?
Options:

1. « 170

2w 175



3. % 180

4. » 185

Question Number : 3 Question Id : 5861804057 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Three of the given four number pairs are similar in a certain manner while one is different. Choose the odd one out.

Options:

1. = 26:126
? % 7:65
3.« 63:125

A % 124:344

Question Number : 3 Question Id : 5861804057 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

I Yeod TEIT TeAT H ¥ & U allh ¥ TAF g, F9ia 398 § UF 3T gl $a8 & v g1

Options:

1. = 26:126

2 w 7:65

3. v 63:125



4. % 124 : 344

Question Number : 4 Question Id : 5861804058 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

5 IFfous FFadl H & 98 Hpia I A S IFH(A IHTg H G Fam &7

% |0
T |3 2
I+ [

Options:

Question Number : 4 Question Id : 5861804058 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select a figure from the options figures that would complete the figure matrix.

% |0
T [3] 2
I+ [O

Options:




Question Number : 5 Question Id : 5861804059 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
Three of the given four letter cluster pairs are similar in a certain manner while one is different. Choose the odd one out.

Options:
1. = ADVERSE: SAXHBPO

? & BLANKET : XIYKQBH

3. % CHASSIS : XEZVPFP

4. ®« DECENCY : ZBAHVZK

Question Number : 5 Question Id : 5861804059 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

IR oo AeE TIAI H F O U alF ¥ TAW ¢, Sl 390 ¥ wF e § sAA § faww I

Options:

1. = ADVERSE : SAXHBPO



2« BLANKET : XIYKQBH
3 % CHASSIS : XEZVPFP

4. = DECENCY : ZBAHVZK

Question Number : 6 Question Id : 5861804060 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the figure amongst the option figures which has the same characteristics as the two Problem figures have.

A y
SalF g

Problem Figures

0
A

Options:

aaallls

<[>
D> <»




#
§ &

Question Number : 6 Question Id : 5861804060 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

5 dFfoTe Hpiadl H ¥ 9g Igpia I+ oras feeeror & gaew smpfadt & 79 2

@A

.
v v E
=

HALAT Al
Options:

A ¢

T L

<D

<[>

I
<«
o

Question Number : 7 Question Id : 5861804061 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25



Three of the given four word pairs are similar in a certain manner while one is different. Choose the odd one out.
Options:

1. + Certain: Keen

7w Sorry : Apologetic

3. % Worried : Distressed

4. % Ugly:Hideous

Question Number : 7 Question Id : 5861804061 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT Yood o6 GIAI H W A T IlF W FA g, FalF 397 T TH 7o gl 97 ¥ faws 7+

Options:

1. «» W= deo

3« fifew : coiw

Question Number : 8 Question Id : 5861804062 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Two different positions of the same dice are shown below. Which symbol is on the face opposite the face showing *$°?

<@ <# >
S#| % =+

Options:



[y
b
®

-2
#
H:

Question Number : 8 Question Id : 5861804062 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

S T & TET () # ar serer-aeET Tufaw & aw §1 S Twr ® o & giEa I Boe WO Fi
T T 37

S[#||%]
Options:
1. » @
2w #

Question Number : 9 Question Id : 5861804063 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25



Which of the following patterns of the dices can be formed when the sheet given below is folded?

1
3|6
5
4|2
5 1 5 3
23 34 ZE 25

(1) @ 6 @)
Options:
1 % All2 3and4

2 w Onlyland3

3 x Only2andd4

4. «+ ©Only2and3

Question Number : 9 Question Id : 5861804063 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



S 9eed ofe @ Wies faar Srar §, 99 3w (TR) ¥ SeHA H ¥ FiA 6 U I Hepar 872

1
3|6
5
412
5 i 5 3
[ 5|4 2 |® 2 |©
(1) (2) (3) 4)

Options:

1. « & 1,2 33R4

2 % HIF 1 3HRT 3

3. w a2, AR 4

A v Faa2 3T 3

Question Number : 10 Question Id : 5861804064 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

Arpita starts walking from her home and goes 28 m towards east. From there, she turns right and walks 45 m.
Then she turns left and walks 15 m. Then she turns left and walks 12 m. She turns right now and walks 27 m.

She then turns right and walks 25 m. After that, she finally turns right and walks 14 m. How far and in which direction
is she from her home?

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.
Options:

1. 36 m, South



2 32 m, South

3 32m, North

4. 36 m. North

Question Number : 10 Question Id : 5861804064 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HETT O W H YF Fk 28 m G H A TASN g1 TgI ¥ Fg s A’ F5HL 45 m T g1 o 7@
1% A #ASL 15 m Fad g1 Y 97 915 AW AqFH 12 m T g1 3T TE &% 3N HIHL 27 m T
21 {7 38 1% #T {3 256 m Iodl g1 3§F 91¢ AT H ¢ ¢ HR HIH 14 m TN F1 T IS
W F e g § 3k 5w fam A 72

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.

Options:
1. 36 m, afaor
2 32 m, gfayoT

3. 32 m, 3cN

4. 36 m, 3cal

Question Number : 11 Question Id : 5861804065 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Which number will replace the question mark in the given matrix?

84 | 73 | 65 | 54

129 | 105 | 96 | 72

145 | ? 79 | 28




Options:
1. v 94

? % 96

3 = 98

A = 102

Question Number : 11 Question Id : 5861804065 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Secd 3edg A FoA e & T W FHa d@ wEAw e

84 |73 |65 |54

129|105 |96 | 72

145 | ? 79| 28

Options:

1. v 94
2« 96
3« 08
4 % 102

Question Number : 12 Question Id : 5861804066 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Eight friends P, Q. R. S, T, U, V and W have their houses which are arranged in two rows having four houses in each
row. Both rows face each other. P’s house is not adjacent to U but is in the same row. Q’s house and P’s house is not in
the same row. R’s house does not face S’s and V’s house. Q’s and S’s houses are diagonally located to each other. U’s
and W’s houses are diagonally located to each other. T's house is second to the left of W. T’s and S’s houses are not at
the corner. R's house is in the opposite row of P’s house but is not facing P’s house. Which of the following statement is
NOT correct?

Options:

1. « S's house is diagonally located to T’s house.

? % Q’shouse is facing P’s house.

3 x P’sand T's houses are diagonally located to each other.

/. % R’s house is between T’s house and W’s house.

Question Number : 12 Question Id : 5861804066 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HSaAET P, QR S T U VITWFRFIFTHT Ao IR T ity & & v o &

TN T g1 Al 9iFadl U gEl % WA gl P F 9T U & |1y a1 790 ¢, ofda Ue & 9 T A 21 Q
AR PF R F AT AAREA RFTRSINVFRFaAa A gl Q3RS F =

WFRRAIUMRMWEFREF W ITWEH TAFRWHTE AT UL THTS &
T FE BT 9T A2 g1 R &1 29X P & oY 3T 9Tad & T@HA Il 99 H g, oo P & W & @A

TET ¥ = W FAT TET A4 &7

Options:

1 v SFTRTFWRA RS AL

2 x QF WP & W F THA ¢

3. % PﬁT#mw@#%ﬁ%l

4 » REFWTIRWF W F &= g



Question Number : 13 Question Id : 5861804067 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Eight persons P. Q, R, S, T, U, V and W are sitting around a circular table at equal distance from each other facing the
centre. Then R and W interchange their positions. Now, if U is sitting in East then which direction is W facing?

Options:
1. + South-east

? % South

3. % North-west

4. % North

Question Number : 13 Question Id : 5861804067 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fe@HI P, Q, R, S, T, U, V3R W TF 7l A 3 36-F1g TS HT AT Hg o T gl &
TA g W 9 &1 T R AR W 3l T gt o g1 39, Ffg U g3 A g ar W @ T gar 2

Options:

afEror-gd

1. ¢

2_&@“

3. % 3cag-dre=H

Question Number : 14 Question Id : 5861804068 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Four friends Soumya, Mrinal, Vedika and Arpita are players of one of the four teams P, Q, R and S. Each team play one
of the four sports i.e. football, Badminton, volleyball and table tennis. Mrinal plays badminton but she is not the
member of team R and S. Arpita plays table tennis. Vedika does not play football. Team Q does not play football and
Badminton.

Who is the player of team P and which game does she play?

Options:
1. » Arpita— Table Tennis

? « Mrinal — Badminton
7 x Vedika —Volleyball

/. % Soumya— Football

Question Number : 14 Question Id : 5861804068 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TR Ered T, Fgond, 3 HX FAT P, Q, R 3R S TR AT A ¥ v ¥ Wend 81 v9e &
Feald, SsfHcd, Semaid AR TFo-¢AE H ¥ U U Tord! gl HUNH asiea Word ¢ it ar & R
ﬁsﬁmaﬁﬁlﬂﬁmméﬁmmﬁfmmﬁaﬁm%lﬁﬂmmm
e 7 B £

SAH ¥ i &H P & Tengr § 3k 7 77 g« gedr 22

Options:

1. » ¥ - eFe-gfag

2 v FuTe - d5fHed

3. % T - FTelETe

4. Bl - peste

Question Number : 15 Question Id : 5861804069 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25
If the following sheet is folded along the lines to form a cube, then which number will be on the face opposite to the one

having “3°?

5

Options:
1.+ 1

I

2. %

Question Number : 15 Question Id : 5861804069 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e & % M F OF O F AR 3 F e A fozr smar g, o 3 o 7 v H Roda w9w
W 7 & O i o g Tmg e

Options:

1. v 1



Question Number : 16 Question Id : 5861804070 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Four statements are given. followed by three conclusions.

The symbols used in them have meanings as follows:

P @ Q means P is neither smaller than nor greater than Q.
P # Q means P is neither greater than nor equal to Q.

P & Q means P is neither smaller than nor equal to Q.

P % Q means P is not greater than Q.

P $ Q means P is not smaller than Q.
Now read the following statements and decide which of the conclusions is/are true.

Statements:
B#D

D#IJ
B@C
T&B

Conclusions:
I. B%J
II. 7% B
[ T& L

Options:
1. % Only conclusionIis true.

2 % Only conclusion II s true.



3 Only conclusion IIT is true.

4. % All conclusions are true.

Question Number : 16 Question Id : 5861804070 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



I Fu o v § 3k 3FF S A Ty ofr fev v #) s=A
SgFT T &1 3 FEaegar &
P@QAQFATEFPIFAT QAT g 3k 7 731 ¢
PHQHF ITE™FHE P T ar Q& 737 § 3R 7 T 21
PE&Qa ¥ g ™ Paar Q@ orer g ik a et gl

P % QT 51X g & P, Q @ 37 4T 21

PSQw T ¢ &F P, Q& oler a1 21

3 o Fyar & 92 3R g7 F F =6 F@ ST Ta Ty @@l
el

Y

B#D

D #J

B@ C
T &B

sy
. B$ J

. J % B
. T & C

Options:

1 » &9 fasay | Tér g



2w e Ay | TEr g

3 o Faw fEswY I W@ R

4« TA TR wEr o

Question Number : 17 Question Id : 5861804071 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Three statements are given, followed by four conclusions numbered I to IV. Assuming the statements to be true even if
they seem to be at variance with commonly known facts, decide which of the conclusions logically follow(s) from the
given statements.

Statements:

All heaters are motors.
Some motors are pumps.
All pipes are motors.

Conclusions:
I.  Some pumps are heaters.
II. Some heaters are pipes.
III. Some motors are heaters.
IV. No heater is pipe.
Options:
1. % Only conclusion II and III follow.

? % Either conclusion IT or IV follows.

3. % Conclusion IIT and either I or IV follows.

4.« Conclusion IIT and either IT or IV follows.

Question Number : 17 Question Id : 5861804071 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



T Rk iavit e R fiRr o s d F m g, o &
TEATEs Tt @ W E, 77 F T FiE T T IEF T X Tocd FUF FHFEOT FA 2

FY.
Tl grex AT #
Fo Al 99 2
Tl 913 AT g
o=y
. & 99 greT §
. FT e T &
Il. 55 AT & 2
IV.®1g geX ST AT g

Options:

1 = Faer Ty 1 3R 11l 3rgeor #a 2

5« forsas 11 3T IV A @ F12 HFHOT AT 2

3« fosams 11 3T | a1 IV 7 & FIS 80T FIT g

4 o TREINER AV F T FY HFEROT FA g

Question Number : 18 Question Id : 5861804072 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
A team of six persons is to be selected from among five boys, A, B, C, D and E, and five girls, P. Q, R, S and T, such
that there are at most two boys in the team and it meets the following criteria:

i. B and D cannot be together.

ii. Q and R must be together.

iii. A and C cannot be together.

iv. E and A must be together.

v. D and S must be together.
Which of the following teams can be formed?

I. AQERTS
BPQCDS

AREPTQ
SQDRCT

w1

-



Options:
1. » Only4d

? % 2and3

3 « 3and4

4. = Only3

Question Number : 18 Question Id : 5861804072 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

gra @EH A, B, C, D IR E R wm sl P, Q R, S 3R T # & 5 50 991 ¥ og & &F I
e & & &\ # FaEr & FuEr g 5% @ MR AR Aegs @ A an

i. B 3T D T @Y 7ET & Fdl

i. Q@ 3T R T @y @7 =g

iii. A 3T C U @y 7T & T

iv.E 3T A T @y @ =iz

v. D 3T S % Ty g =ifRul

SAH ¥ HiA T [aFed T &H T Thal 87
1. AQERTS
2. BPQCDS
3. AREPTQ
4. SQDRCT
Options:

1. = haer 4

2. % 2 3T 3

3. v 33R4
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Question Number : 19 Question Id : 5861804073 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The criteria for selecting a candidate for the post of *Gvnaecologist’ are as follow.

The candidate:

1. must have completed M.S. Gynaecology with more than 80% marks.

(]

. must be willing to sign a bond of not leaving the job for at least 2 years.

3. must have at least four years experience of working as a doctor at a reputed hospital.

However, if a candidate fulfils all the above criteria EXCEPT:

a. no. 2, but has more than 8 years of work experience, his’her case is to be referred to the General Manager.

b. no. 3, but has obtained more than 90% marks in M.S. Gynaecology, his/her case is to be referred to the Head

Human Resources (HR).

Based on the criteria given and without assuming any additional information, you have to a take a decision for the

following candidate.

Dr. Shah has obtained 83% marks in both MBBS and M.S. Gynaecology. He has worked at a hospital for four years. He
is willing to sign a bond of not leaving the job for one vear.

Options:

1. % The candidate is to be selected.

? « The candidate is not to be selected.

3 % The candidate’s case is to be referred to the General Manager.

A % The candidate’s case is to be referred to the Head Human Resources (HR).

Question Number : 19 Question Id : 5861804073 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



TMEAFIANNES & TG & [0 3FHEaN g & fow Awes Amegen &

I

1.3MEATAT # THUHE. g =fgT 3T 80% ¥ 3fe 3% @ =nfgw)
2.%° ¥ FH 2 TEl I ARl F S5 & BT a8 o7 1 33T g7 =T
3.forelr wfaffaq srraarer & St & & & F1H A & A W FF TN HA H JFea g A0

grelter, afe 3FAEaR 3o Tl AEs T w4 ¢, e

a. @ 2, Afea 3@F 9H IS Wl ¥ HUF F HFHT §, AT SHA AHT AG-TIUF F HA A
b. . 3, afe TA.TE. TMEAFETST F 90% ¥ Hfow @il e g, o 3w Awer 9w
AT FHYA (TI.HR.) FT HASAT AT
Yaod AFesl & HUR 9T AT G5 off wfafea Sewdr v ot fre e, ameer e sefean &
fore Tmer =T &

T, A o TH.ATLSTE. T TH.UH. TMEAEEET |t H 83% 3% e ST F 3R 3EIae H IR
et dF &7 a1 g1 98 T T aF Al 7 o & & 98 §4 # 991 g

Options:
1 3FACEIR AT ST TR

2 v 3FHIGAR HT AT AT AT AT

3. x 3FHIEER & A F FEHEUF F 9H H I Freem

4 x 3FHIGAR & ATHS H THW HAd FEYS (TR & 918 #57 fear smeem)

Question Number : 20 Question Id : 5861804074 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The criteria for selecting a candidate for the post of “Head Accountant” are as follow.

The candidate:
1. must be a qualified Chartered Accountant (C.A.)

2. must not be less than 35 years and not more than 45 years of age as on | January 2019.
3. must have worked previously as Accountant for at least 5 years.
However, if a candidate fulfils all the above criteria EXCEPT:

a. no. 2, but has more than 7 years of work experience as Accountant , his/her case is to be referred to the Deputy
General Manager.

b. no. 3, but has also qualified Company Secretary (C.S.) examination, his/her case is to be referred to the Head
(Accounts Division).

Based on the criteria given and without assuming any additional information, you have to a take a decision for the
following candidate.

Vishal is a qualified Chartered Accountant and Company Secretary. He was born on 6 July 1976. He has worked
previously as Accountant for last 5 vears.

Options:
1. + The candidate is to be selected.

? % The candidate is not to be selected.

3 x The candidate’s case is to be referred to the Deputy General Manager.

4. % The candidate’s case is to be referred to the Head (Accounts Division).

Question Number : 20 Question Id : 5861804074 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:

1 o SFHEER T S e
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3w 3FAIGAR F AHC Hl 3T-HgTUF & IH AT [&aT A0
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Mental Ability2

Group Number : 2
Group Id: 586180193
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
Isthis Group for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
Mental Ability?2
Section Id : 586180197
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 586180272
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 5861804075 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the option figures represents the correct water image of the figure given below?

7ftRQGS

2

9

K

Options:

A
b
z b
AR TY - felck.




K
d
3

o , [Atisoe?
K
¥
5
LtiBDO?2

3. %

K
3
5
4 . Dusge?

Question Number : 21 Question Id : 5861804075 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ST ATHiaar & A FiF T AP Feod 3Mpia T 90T S FATdr 82

TftRQGS

2
9
K
Options:
M
b
Z
A

1 R® tfEgee

K
0
3
A

2 v HHUGEI




K
]
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K
d
3

4 " Atfsgee

Question Number : 22 Question Id : 5861804076 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
Select the correct mirror image of the given cluster when a vertical mirror is placed on the right of the word.

RGHUty78fG42WaQ9
Options:
1. % 6DsWSPDI8TYIUHOY

? % epsWShDI8LAIUHDA
3 ¢ epsWSho18TytUHDA

/. % eDsWSPOI8TyIUHDA

Question Number : 22 Question Id : 5861804076 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

mm{gﬁruﬁra&maﬁg& T e & Slged T TF FeaTed 9T @ T gl

RGHUty78fG42WaQ9
Options:

1. =

60sWSEDI8TYIUHDY



e0sWSpDI8LAJUHDA

2. %

EDEWSHB‘BT\HUHBH
3. ¢
4 e0sWitrD48TyiUHDA

Question Number : 23 Question Id : 5861804077 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A TS TAH-HET & THE 6T 90 B, $9H ¥ A7 U FAA & [EECa A AT TAE T4T
A) 8" «51#27 %54 (4% +#5%@ 3

(B) &8~ +51#27%$4(0%+#5%#3
(C)&~+51#27%$4(0%+#58$#3
D)&~«51#24%%4 (4% +#58#3

(E) 8 +51#27%%4(4%+#58%#3

F) &~ +57#27%%4 (4% +#58#3

G) & +51#27%#A4(4%+#5$#3

(H &~ +«51#27%S$4 (4% +#58$#3

Options:

1 « A C3HRE

2 % B, C3HRE

3. v B, E 3R H

4 % C, F3RH



Question Number : 23 Question Id : 5861804077 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
Eight symbol-number clusters are given below three of which are same. Find the three clusters that are exactly same.

(A)&M*51#27%84(4%+#55@3
(B) & "*51#27%854(4%+#58#3
(C)&M*51#27%54(0%+#55#3
(D)& *¥51#24%%84 (4% +#58#3
(E)&"*51#27%%4(4%+#58#3
(F)& "*5T7#27%354(4%+#55#3
(G) & *51#2T7%#4(4% +#5S5#3
(H) & *51#27%S54(4% +#55#3

Options:
1. = AC and E

? % B,CandE
7 « B.EandH

4 = C.Fand H

Question Number : 24 Question Id : 5861804078 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

Which of the given figures. when fitted into each other would form a hexagon? Select an appropriate combination from
the given options.

NS

Options:
1. v ABEF

7 % ABDF



3. % BCDE

4. % BCDF

Question Number : 24 Question Id : 5861804078 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T ¥ B apfe 1 59 e v g F fve B S €, O U wesvr s9en? weed et § ®
FET v g4

00 vpe

Options:
1. v ABEF
2« ABDF
3« BCDE
A « BCDF

Question Number : 25 Question Id : 5861804079 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the diagram given below, the pentagon stands for “doctors’, the triangle stands for *fathers’, the rectangle stands for
‘morning walkers’, and the oval stands for ‘house owners’. The numbers in different segments represent the number of
persons.

Which of following statement is NOT correct?

Options:



1. =

The number of doctors who are morning walkers and fathers both but are not house owners is 15.

2. %

The number of doctors who are fathers but are neither morning walkers nor house owners is 19,

3. %

The number of persons who are house owners and morning walkers both but are neither doctors nor fathers is 12.

4, v

The number of doctors who are fathers and house owners both but are not morning walkers is 16.

Question Number : 25 Question Id : 5861804079 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A Eod WG H, TIHIUT ‘Saew H gl g, e e @ gfer g, 3maa Al aed #r gefar
g 3T =R ‘Aea Aifas @ gTar &1 HET-37eET W @ &Y 9 §EAV cafaadl $r §Ear & gt
gl

SAH U FiT T FUA Tl Fal 87

Options:
1. =
CH sfeed @ WEAT 15 §, S gag H W FA § 3R Far o E afFaT mew afes 74 2

2. %
TH seew A HEm 19 §, S Bar O § ofe 7 O geg f W e § @R T & mEw A §

3. %
W feqal #r §Ear 12 g, S A Ao o § A gag @ 3 o w9 §, afew 7 a sfeex € AR
7 & far g



4, v
UH SiFy T FEAT 16 §, S R dR AF= Ao gt §, ofehed Gag T WA AGT B 2

Question Number : 26 Question Id : 5861804080 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option figure which contains figure X embedded in it as its part.

Figure-X

Options:

Question Number : 26 Question Id : 5861804080 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



A ¥ 98 Hpia I Swd Apfa X @ v o1 g

X

i X
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A
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Question Number : 27 Question Id : 5861804081 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Which of the following option figure will complete the pattern in the figure given below?

\h_-ll/

NN
NN

AAES AN
i

ANV

Options:

W
1

N=

N
U
AN

N[=

<

3.w=
J 0
N
4. BLY

Question Number : 27 Question Id : 5861804081 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



SN U &I B Hpia A" Feod Mepia Head & O HL?

Z e P N

Y INANY

1 LI\ ]1

Uy .

AL 7

N = !
Options:

<
M

|— — I——

AN

N[=

NA[=

(oD}
=1

it
=) N

4, =

Question Number : 28 Question Id : 5861804082 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

Akriti is daughter of Vibhor. Amit is the brother of Kavya. Kavva is daughter of Vinod’s father. Sadhna is mother of
Amit. Diviyj 1s Akriti’s only sister’s husband. Sadhna is sister of Akriti.How is Vibhor related to Kavya?

Options:



1. = Father

2 Maternal grandfather

3. % PBrother

4. = Uncle

Question Number : 28 Question Id : 5861804082 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e e Fr 38 &1 3BT e #9581 Few e & Rar #3986 & wuer w3F7T & A7 2
Rfasr amgpfa Fr sordlldr sga o 9fT g1 TET gty Fr 9ga §1 e 3R @ F Rear war w:2

Options:

Question Number : 29 Question Id : 5861804083 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If in a code language TODAY is coded as SPCBX, then how will vou code YESTERDAY.
Options:
1. = RFXSDUXCB



7 % FRUDXXCBS

3 % RUDSCBXXF

/1. » XFRUDSCBX

Question Number : 29 Question Id : 5861804083 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ife &dr g & & ‘TODAY' & SPCBX @ f&har wmam %‘ ar 38" 3IF 99T # 'YESTERDAY' &r &Fam
FE BT FrTem?

Options:

1. » RFXSDUXCB

2 % FRUDXXCBS

3. » RUDSCBXXF

4. v XFRUDSCBX

Question Number : 30 Question Id : 5861804084 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



A question is given, followed by four statements labelled I II, III and IV each containing some information. Decide
which of the statements is/are sufficient/necessary to answer the question.

Question:
How is M related to P?

Statements
I. Nis M’s wife whose daughter is QQ.
II. Q is O’s sister.
III. M is father of O.
IV. P’s mother is sister of O.
Options:
1. » Statement I and II together are sufficient.

2 Statement IT and III together are sufficient.

73 x Statement IT and IV together are sufficient.

4.  Statement IIT and IV together are sufficient.

Question Number : 30 Question Id : 5861804084 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T T2 F a1 [, I, 11l HR IV 39 & F@d & Fud R ¢ §, 939F § 7O 7 $o AE & 7 g
T F1 F 7o 7 3c} &5 F 0w =99 ¥ FiF aF FuT qa@ea/STw]lr e

93
M, P & &8 g=ET 87

HYHA:

l. N, M &r 9=t § fSraer s Q 2l
. Q, O I &

. M, O & ar I

IV. P & Arar O & 58 &

Options:



1 % U= | 3R | ThaEry 93 gl

2w wuA Il 3R Il wHEY q3@eT g

3. » wEA Il AR IV wwHEry 93T )

4. » ®ua 1l 3R IV TwaEy g3 g

Question Number : 31 Question Id : 5861804085 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If "ARTERY" is coded as 129 in a code language, how would ‘CREATE’ be coded in the same code language?
Options:
1. = 110

7 @ 111
3 = 112

A = 113

Question Number : 31 Question Id : 5861804085 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

I T F1E 9T F ‘ARTERY’ &1 129 F1E a7 7737 g, ar 347 FIS 99T ¥ ‘CREATE’ & 547 I8
BT Sree?
Options:

1. = 110



2. v 111

3. % 112

4. = 113

Question Number : 32 Question Id : 5861804086 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
Which of the following pairs of numbers and signs, when their positions are interchanged, will correctly solve the given

mathematical equation?

448+ 151 28+ 14 = 15=75
Options:
1. = 28 and 448, * and +

7 % 448 and 151, + and +
3 ¢ 151 and 28, +and +

/4. % 28and15, *and~+

Question Number : 32 Question Id : 5861804086 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TEast AR REA & 37 oA A F FiF 7@ H 576 DT 398 # sges W OF Taod Ao
THGIOT HF Tal & g HLEM?

448 + 151 - 28 + 14 x 15 = 75
Options:

1. % 28 HIT 448, x 3R +



D % 448 3T 151, + 3R+

3. » 151328, + 3k +

4, = 28 AT 15, x 3R +

Question Number : 33 Question Id : 5861804087 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A total of 260 students take part in one or more of three events drawing, sculpture and face painting. Only 30%
participate in all three events. The number of students who participate in any two and only two events is 80. The number
of students who participate in drawing alone is 37. What is the total number of students who participate in sculpture
alone or face painting alone?

Options:
1 = 64

2.« 65

3 % 66

4 = 67

Question Number : 33 Question Id : 5861804087 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

For 260 oTF RFE, Afdwer R TgU T A ¥ TF FEFA H HO7 o g1 FId 30% & @
FAFAT F 60T 9T §1 BT & I FaT & FAFAT F &6 o I orEr T =T 80 B FEd Rl
H 197 ot JTel OIET AT FEAT 37 gl HEd Hiowel AT Fae U T & FHEHA H AT o arel oAl
& HEIT I4T Y

Options:

1. = 64



7 « 65

Question Number : 34 Question Id : 5861804088 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25
Among five objects V, W, X, Y and Z; V is three times costlier than X; W is one and a half times costlier than Z; X is

two and a half times costlier than Y. Z is thrice as costly as V. Which of the following statements is NOT correct?

Note: For this question, discrepancy is found in question/answer. So,this question isignored for all

candidates.
Options:

1. Zis 6 times heavier than X.
? W is 4.5 times heavier than V.

3. Vis 7.5 times heavier than Y.

/. Zis heavier than V but lighter than W.

Question Number : 34 Question Id : 5861804088 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T TGV, W, X, YR ZA RV XTIT I A g W, Z B e T 7 g X, Y ¥ a8
T 7R Bl Z, V F AT T AN B SAA & FiF W oHAF T AL 87

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.
Options:

1. Z, X ¥ ©F I A 2



5 W,V & 45 7T &1l 2

g V.Y @75 T a7

4. Z,V T a1l § afba W & g &1

Question Number : 35 Question Id : 5861804089 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Four persons A, B, C and D have different amount of rupees with them. B says to C, ‘If I give you | rupee, you will
have half the rupees than D™ B says to D, ‘If you give me 8 rupees, I will have 10 rupees less than A."”. C says to D, *If
you give me 21 rupees, I will have 30 rupees less than A’. If C and D together have total 104 rupees, how many rupees
does A have?

Options:
1. = 82

3 % 84

4, v 85

Question Number : 35 Question Id : 5861804089 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

IR TFTAT A, B, C 3T D & IF FeRT-3e T TA §1 B, C ¥ FgcT g, ‘R A JL 1 T & G, o
TR I D ¥ 3 T EET" B, D A FAT §, R A FH 8 TA I &1, Al M IH A F 10 F
FH A" C, D ¥ FEAT §, "W gH AqH 21 A T &, @ A 7 A ¥ 30 T FA T afy € 3k
D gt &% 9T Fef 104 TI2 &, ar A & o fora w0 §2

Options:

1. = 82



4. v 85

Question Number : 36 Question Id : 5861804090 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Three of the given four words are similar in a certain manner while one is different. Choose the odd one out.
Options:
1. » Jealousy

? % Fear

3.« Love

4. % Disgust

Question Number : 36 Question Id : 5861804090 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Yeed IR al H § A TH Ak ¥ FAA g, FaRh T I gl SN § BRI

Options:



Question Number : 37 Question Id : 5861804091 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Three of the given four figures are similar in a certain manner while one is different. Choose the odd one out.

= |0 T

1 2 3 4

Options:

1. % 1

-

2. %

Question Number : 37 Question Id : 5861804091 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Yeod IR HFaal H ¥ e UF dle § FAT ¢, el U HolT gl 37 8 OwH Ioi|

= | 0|

1 2 3 4

Options:

1. = 1



Question Number : 38 Question Id : 5861804092 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which number will replace the question mark (?) in the following series?

142, 12947 31
Options:
1. = 20

? % 24
3 % 26

4« 28

Question Number : 38 Question Id : 5861804092 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

7€ RFeT I S g@er # T fOeg (7) F wE gfaeia HEm|

TE 8 12 17 3
Options:

1. = 20



4. v 28

Question Number : 39 Question Id : 5861804093 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which number will replace the question mark (?) in the following series?

146, 150, 161, 191, ?
Options:

1. = 257

7 » 258

A % 260

Question Number : 39 Question Id : 5861804093 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

7€ RFeT I S g@er # T fOeg (7) F wE gfaeia HEm|

146, 150, 161, 191,?
Options:

1. % 257



2. » 258

3. % 259

4. % 260

Question Number : 40 Question Id : 5861804094 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which number will replace the question mark (?) in the following series?

64, 79, 98, 125, 164, ?
Options:
1. = 201

7 % 211
3. % 216

A » 219

Question Number : 40 Question Id : 5861804094 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

7€ RFeT I S guer # W fOeg (7) F wE gfaeaia HEm|
64, 79, 98, 125, 164, ?

Options:

1. % 201



2 % 211

3. % 216

4. v 219

Group Number :

Group Id:

Group Maximum Duration :
Group Minimum Duration :
Show Attended Group? :
Edit Attended Group? :
Break time:

Group Marks:

IsthisGroup for Examiner?:

Revisit allowed for group Instructions? :

Maximum Instruction Time:
Minimum Instruction Time:

Section Id :

Section Number :
Section type:
Mandatory or Optional:
Number of Questions:

Number of Questionsto be attempted:

Section Marks:

Sub-Section Number:
Sub-Section I d:
Question Shuffling Allowed :

General Awarenessl

3
586180194
0

0
No
No
0
20
No
Yes
0

0

General Awareness1

586180198
1

Online
Mandatory
20

20

20

1
586180273
Yes

Question Number : 41 Question Id : 5861804095 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



In the context of eutrophication, which of the following
statements is correct?

Options:

1. = It refers to a sudden boom in any of the nitrogen
compounds only in a water body.

2. v One of its effects is algal boom.

3. = It increases the quality of water for human consumption.
4. = Additional nutrients in water makes it well-suited for
agricultural purpose.

Question Number : 41 Question Id : 5861804095 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

gawor & @esf A, folee A @ Sl @1 Foe #@gr &2

Options:

1. = TE hael ohAT oTdl Tolehty A Tordl dAscreta I &
3Teleh gig & Fefed g

2. v arel T THHT Tsh THT &

3. * Ug AT 3UHNET 8 STel IUAccl H g HIT &

4. » ol A TANFT OIv0T, 38 FN 322 T 3TLFA Fera
gl

Question Number : 42 Question Id : 5861804096 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

1s the study or cultivation of fruit crops.

Options:

1. v Pomology

2. = Perfusionology
3. » Olericulture

4. = Systemology



Question Number : 42 Question Id : 5861804096 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

hHelc el &l Jedded AT Jdl &

Options:

1. v AT

2. % I “o1a1“|mTo1“|

b Y

3. = 3lel{Ihedd

4. » TOEcAAST

Question Number : 43 Question Id : 5861804097 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is the full form of BOD?

Options:

1. = Bacterial Oxygen Demand

2. = Biological Oxide Demand
3. v Biclogical Oxygen Demand
4. = Bacterial Oxide Demand

Question Number : 43 Question Id : 5861804097 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SI3Nsr (BOD) & qUT &9 T 87

Options:

1. = SFeIgel 3adisle SAS
2. = ATl A8 BATS
3. v FTAIoTRel 3aaTelel 8HS
4, = SFEITT HFaEs BATS

Question Number : 44 Question Id : 5861804098 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

As per the India State of Forest Report, 2017, which of the
following states has the third largest forest cover in India?

Options:




1. » Maharashtra
2. » Odisha

3. v Chhattisgarh
4. = Jharkhand

Question Number : 44 Question Id : 5861804098 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TR gel [eufa RAE 2017 & 3@, e # 8@ g oo
A gd 3ailed &89, IRd A dIaT gaides &7

Options:

1. = HBNISE
« 3T

2.
3. v ScdIgaTe
4.

* HRES

Question Number : 45 Question Id : 5861804099 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In February 2019, the Union Cabinet approved the National
Mineral Policy, 2019. The policy is broadly based on the
recommendations of the committee headed by:

Options:

1. v K. Rajeswara Rao
2. » P. Basu

3. = G. Nagaraja

4. = Amitabh Kant

Question Number : 45 Question Id : 5861804099 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



WET 2019 & FaT AFAS o TS Jlarel sl 2019
HAANET HT| Tg A =AT9w F7 & hT IETEAT dTell
afafa $r Awie 9T 3meaia gl

Options:

1. v . Toeay TG
2.wtﬁ.a§r

3. % ST, APRIST
4. » ITEATHT FId

Question Number : 46 Question Id : 5861804100 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In March, 2019, ISRO sealed an agreement to set up a joint
maritime surveillance system with:

Options:

1. = JAXSA

2. # ROSCOSMOS
3. v CNES

4. = ISA

Question Number : 46 Question Id : 5861804100 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT, 2019 # ST o % T Th I ATHCh
IR YoTTell TUTNT e & ole s R

Options:

1. = JAXSA

2. = Roscosmos
3. v CNES
4. = |SA



Question Number : 47 Question Id : 5861804101 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the context of colour coded warning systems for weather,
yellow colour refers to:

Options:

1. = no severe weather
2. = be prepared

3. = take action

4. v be aware

Question Number : 47 Question Id : 5861804101 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Alagw & O 3T & HIE grelr AT Yol & T #, det
337 FT 3T grar &l

Options:

1. = I AGH 8T
2. * AN g

3. » FRGRET F

4. v Gd+ @&

Question Number : 48 Question Id : 5861804102 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Recently, the Indian Navy had a joint exercise named Varuna
2019 with the navy of:

Options:

1. v France

2. = The United Kingdom
3. = Japan

4. = Bangladesh

Question Number : 48 Question Id : 5861804102 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



g &7 # 9RdT AT o FT ADAT &F T TAART
g&uT 2019 ATHS Teh i—i%-ljcl'd T TR

Options:

1. v WIE
2. » galrges fomarsH
3. % SI4Tel

4. % FTATGL

Question Number : 49 Question Id : 5861804103 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who was the ruler of the kingdom between the rivers Jhelum
and Chenab?

Options:

1. * Chandragupta Maurya

2. v King Porus
3. = Darius III
4. = Alexander the Great

Question Number : 49 Question Id : 5861804103 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Sleld 3T A Afeal o s [Terd Uo7 AR hiel 2AT?

Options:

1. = <gared A
2. v =TT 9"
3. = 3T |l

4. = el A

Question Number : 50 Question Id : 5861804104 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who was the governor - general during the Revolt of 18577



Options:

1. v Lord Canning

2. = Lord Irwin

3. = Lord Lytton

4. = Lord Willington

Question Number : 50 Question Id : 5861804104 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

1857 & TOQIE & AT Ided-olalel dhiad AT?

Options:
1p. v o8 hiddr
2. % o5 S{del
3. » olis Telcd
4.

BCIERCIEE ]

Question Number : 51 Question Id : 5861804105 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In which year was the Indian Forest Act passed by the
colonial government in India?

Options:

1. = 1858
2. v 1865
3. = 1866
4. = 1868

Question Number : 51 Question Id : 5861804105 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HNT T 3dieidieleh ThN GarT Tohd Ty HNIT deof
fAfaTe g foraT arm?

Options:

1. = 1858




2. v 1865
3. = 1866
4. = 1868

Question Number : 52 Question Id : 5861804106 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following statements about the Swaraj Party is
correct?

Options:

1. = It was founded by CR Das and JL. Nehru.
2. v CR Das was its first president.

3. = It supported the participation in the council elections
under the Act of 1907.

4. = It succeeded in electing Vallabhbhal Patel as the President
of the Central Legislative Assembly.

Question Number : 52 Question Id : 5861804106 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TSl UTel & R H Toied # & i TT FUoT ol &7

Options:

1. % FHehT TATYAT IR o AN VST A& @RI T |
2. v O3 19, SHh UUH 3eTeT o)

3. » WA 1907 & HATTA F AN WMo Jaral A
HAENERT &7 TS FRaT|

4. » S T [TUTTAT &F ETET & FT H TedHATS Tol
#r foaiiad s # hadr ured I

Question Number : 53 Question Id : 5861804107 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25




Which of the following states has the third largest number of
seats in the Rajya Sabha?

Options:

1. * Madhya Pradesh
2. = Andhra Pradesh
3. » West Bengal
4. v Tamil Nadu

Question Number : 53 Question Id : 5861804107 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T AT 7 e H 8 T T hl Hiel T F&IT aradr
Taae &7

Options:

1. = HET ydel
2. = 3TY Udel
3. = UIegH Tl

4. v dﬁ:lcﬂa-llg

Question Number : 54 Question Id : 5861804108 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following sets of the union territories is NOT
represented in Rajya Sabha?

Options:

1. = Puducherry, Chandigarh, Andaman and Nicobar Islands
2. » Daman and Diu, Lakshadweep, Puducherry

3. » Dadra and Nagar Haveli, Lakshadweep, Puducherry

4. v Dadra and Nagar Havell, Lakshadweep, Chandigarh

Question Number : 54 Question Id : 5861804108 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fueniad &4 & fhd dc F1, TsF 4T A vidl«ideg =8l g7




Options:

1.« geNT, TS0TG, 3iSAE 3R faeer T aAg
2. » A 3T, ofetedd, TNl

3. » QAT 3 TR A, aredT, Yg

4. v TR 3 TN gdell, &y, ASHG

Question Number : 55 Question Id : 5861804109 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The National Disaster Management Authority (NDMA) is the
apex body mandated to lay down the policies, plans and
guidelines for disaster management to ensure timely and
effective response to disasters. The body has been set up
under the Ministry of:

Options:

1. v Home Affairs

2. = Natural Disaster Management
3. » Environment, Forest and Climate Change
4. = Science and Technology

Question Number : 55 Question Id : 5861804109 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TSI IS Taeel UTTEeiuT (VoIaIvHAY) 3MIer3it & g
HAISE T UHATET UidohaT FlARTd Fla & folv 3Tuer daee
T aiifa, A, 3 fqenferder o] e arer e
iR s &1 59 T i HATOT o 3dad
TATTOT TohaT 9T B

Options:

1. v 3§ HATAS
2. = UThiceh 3MUEr geieel




3. T, T Ud SToary IRace
4, = e wa wiediferehr

Question Number : 56 Question Id : 5861804110 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

was the first Deputy Speaker of the Lok Sabha.

Options:

1. v M. A. Ayyangar
2. = M. Asaf All

3. % A K Ayyar

4. = A V. Thakkar

Question Number : 56 Question Id : 5861804110 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SNRTHT o WAH IUTeyer o

Options:

1. v TH. T. 3PN
2. = UH., 3HE 37l
3. % U, @ 37T
4, = U. dl. SFhT

Question Number : 57 Question Id : 5861804111 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The Schedule provides for the forms of caths and
affirmations.

Options:

1. = 2nd
2. v 3rd
3. = 4th
4. % 5th



Question Number : 57 Question Id : 5861804111 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT eradl 3T ufdaAms 8 Ta®T Vel FLdr g

Options:

1. = gEdr
2. v drEdr

3. = ey
4. » grEr

Question Number : 58 Question Id : 5861804112 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

How long should a person have practiced in a high court to be
eligible to be appointed as a Judge of the Supreme Court of
India?

Options:

1. = 5 years

2. % 20 years
3. v 10 years
4. % 25 years

Question Number : 58 Question Id : 5861804112 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3T AT H Tohda ¥ doh Hidcd ld o §I¢ Sdlord HRd
& 3TUdH IO H sIrareirer & 9 H ﬁl‘{l;w'_cr T ST %T;r
g & SArdT &7

Options:

1. = 5 @y
2. % 20 @Y
3. v 10 Iy

4. = 25 @Y



Question Number : 59 Question Id : 5861804113 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The Commonwealth Games, 2022 will be hosted by:

Options:

1. * London

2. = Bahamas

3. v Birmingham
4. = Glasgow

Question Number : 59 Question Id : 5861804113 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SeHSS ol 2022 ZINT Teld TopU SATwal|

Options:

1. % olgal

2. = SgHNE

3. v gfAgH

4. % TN

Question Number : 60 Question Id : 5861804114 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Anish Bhanwala, a gold medallist at the Commonwealth
Games, 2018 belongs to which of the following games?

Options:

1. = Boxing

2. = Wrestling
3. » Archery
4. v Shooting

Question Number : 60 Question Id : 5861804114 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



IeeHse To 2018 # Tauueeh Taoidr 3farer drefarar, faesr &
8 fra dor @ g@afaa g7

Options:

Group Number :

Group Id :

Group Maximum Duration :
Group Minimum Duration :
Show Attended Group?:
Edit Attended Group? :
Break time:

Group Marks:

Isthis Group for Examiner?:
Revisit allowed for group Instructions? :
Maximum Instruction Time:
Minimum Instruction Time:

Section Id :

Section Number :
Section type:
Mandatory or Optional:
Number of Questions:

Number of Questionsto be attempted:

Section Marks:

Sub-Section Number:

Sub-Section Id:

Question Shuffling Allowed :

General Awareness?2

4
586180195
0

0
No
No
0
20
No
Yes
0

0

General Awareness2

586180199
1

Online
Mandatory
20

20

20

1
586180274
Yes

Question Number : 61 Question Id : 5861804115 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25



In the context of the Golden Glove award, which of the
following statements is NOT true?

Options:

1. = The award is given be FIFA.

2. = Earlier it was known as the Yashin Award.

3. v It is awarded to the best goal keeper of the year.

4. = Belgium’s Thibaut Courtois bagged the award for the year
2018.

Question Number : 61 Question Id : 5861804115 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Mese Tolld qWEHN & Heol A, foieet A & Fled AT Fael TEr
ol &7

1. » Ig TERR, AT @RT fem Srar &

2. % Ugol IE TeTaT ILERIT FgelTdT AT|

3. v IE ¥ & HAASS IMoeTh I AT Jrar &

4. = I¥ 2018 A AfesaA + fIa13e HIEfzq o T TEFR
EIESRERIT

Question Number : 62 Question Id : 5861804116 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Sankirtana, an intangible cultural heritage, belongs to which
of the following states?

Options:

1. v Manipur

2. = Punjab

3. = Himachal Pradesh
4. = Odisha



Question Number : 62 Question Id : 5861804116 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

U 3TH HIEhide OREd Gehldle, foera # & v T @
ST

Options:

1. ¢ H’ﬁl’gl’

2. = Tole

3. » TRATTer wder

4. = 3Tem

Question Number : 63 Question Id : 5861804117 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the context of Ek Bharat Shreshth Bharat, which of the
following statements is NOT correct?

Options:

1. = It is a project of the Ministry of Human Resources and
Development.

2. = To celebrate the unity in diversity of our nation is one of
its objectives.

3. = It aims to promote the spirit of national integration
through a deep and structured engagement between all
Indian states and union territories.

4. v It aims to showcase the rich heritage and culture,
customs and traditions of the country to attract foreign
tourists.

Question Number : 63 Question Id : 5861804117 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Ush AT A5 AT & gl A, Toed # & i TT FUAT Tar
oTal 87

Options:




1. » I HATId AT UF [QhrT FAATOT T Ush TRANSTT &l
2. » BAN ST whl ATTUAT H ThdT ol IWIThd hlall SHRT Ueh
33T T

3.« T 9RAT Tl 3R daeniad &30 & & g AR
GITATIT TEHTEIAT o ATETH & USEIRA URRIUT hT 7T ohl
McdTad FlaT SHRT AT &l

4. v [a2efr Tl &t ST Fet & U e Hr THE farad
3 AEPicT, wam3f RN W3 1 vafRid ST sHhT &3 g

Question Number : 64 Question Id : 5861804118 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Bhand Jashn, a traditional theatre form belongs to which of
the following states?

Options:

1. v Jammu and Kashmir
2. = Uttar Pradesh

3. = Odisha

4. = West Bengal

Question Number : 64 Question Id : 5861804118 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ush URYNR ek HIS o1ed foeed A & fovd U 8 §9iad 87

Options:

1.@33%2[\3-711'%3:111'
2. * 3cal UGEr

3. = 3ffger

4. = qiegd SaMMel

Question Number : 65 Question Id : 5861804119 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



During its journey, the Indus river emerges out of the hills
near Attock. The river which joins it as a tributary near this
place is:

Options:

1. v Kabul
2. » Gomal
3. = Viboa
4. = Gilgit

Question Number : 65 Question Id : 5861804119 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

el varg H @Y o), ek F foahe ggifsal @ Aol &
T TATT W SHhI TERIF ool & &7 H a8 oTar
fHerdr B

Options:

1. v el
2. = A
3. = dIEIT
4, » Frafa

Question Number : 66 Question Id : 5861804120 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

On which of the tributaries of Ganga, has Gandhi Sagar Dam
been constructed?

Options:

1. = Yamuna
2. v Chambal
3. = Gandak

4. = Ghaghra



Question Number : 66 Question Id : 5861804120 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

I hT R Bk 4T 9T el AR s fAfdAa T =T &7

Options:

1. = JHAT
2. v I&dl
3. = ISH
4. = HTERT

Question Number : 67 Question Id : 5861804121 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following is the largest land-locked country?

Options:

1. v Kazakhstan
2. » Kyrgystan
3. » Afghanistan
4. = Mongolia

Question Number : 67 Question Id : 5861804121 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fFeT & | FiaT T8 5T TTATEE o &7

Options:

1. v HATEEdT

2. % TepfaToTEdTel

3. = 3{RIATTAEaT

4, « FHINTerAT

Question Number : 68 Question Id : 5861804122 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which among the following is a qualitative tool of monetary
policy?

Options:



1. » Bank rate

2. = Credit ceiling

3. v Credit rationing
4. = Cash reserve ratio

Question Number : 68 Question Id : 5861804122 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fart & & *la1, Alfgw AT FT TR JOMcAF 3TRIOT &7

Options:

1. = 8

2. = shisc Gifeldr

3. v shige TeIfaar

4. = e RIETT HaaTd

Question Number : 69 Question Id : 5861804123 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following statements about Gini Coefficient is
correct?

Options:
1. = It is a popular measure to gauge rich - poor divide in
terms of quality of life.

2. v Its value varies anywhere from zero to 1.

3. » Value zero indicates perfect inequality whereas value 1
indicates perfect equality.

4. = A decline in Ginl Coefficient is generally taken as an
indication that government policies are not inclusive.

Question Number : 69 Question Id : 5861804123 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

fareiT aoTeR & SN A foieet A @ Sl AT FIT T E7

Options:



. % SiTgel 0T & Hedl H geil-forde fQuTsTer 1 AT &
orT I8 vh AR 33U &

2. v TR Al T § 1 & ST & Fehall T

3. = e HAlel, YOT AT Selfeh 1 AT qUT HATAIAT ST
T &l

4. » Al aomeh A TG T U GCRAT AT O JATAR
H@?Té?lﬂlﬁw_cra?w H ATAT ST &l

Question Number : 70 Question Id : 5861804124 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following concepts states an inverse relationship
between the inflation and unemployment in any economy?

Options:

1. * Law of diminishing return

2. = Fisher equation
3. v Phillips curve
4. = Lorenz curve

Question Number : 70 Question Id : 5861804124 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

famar & @ Fle sraurom, Ry srdeaaeer & feehifd 3
SUSHIRT & HET gcshA T a@iiar &7

Options:

1. » Ted UTd%hel T EETd

« TR THATRIT]
3. v Tlecg g

4. = olitol Tsh

Question Number : 71 Question Id : 5861804125 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

Which of the following waves are used by the common TV
remote control?

Options:

1. » Radio waves

2. » Lasers

3. v Infrared waves
4. = Ultrasonic waves

Question Number : 71 Question Id : 5861804125 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ATATTT cIdT WHAC Sl H e # & Tohed @ T 3UIET
o ST &2

Options:

1. » I3 T
2. % ool
3. v 3Ta3Fd ader

4. = QI dLd

Question Number : 72 Question Id : 5861804126 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The products of the process of neutralisation, i.e. reaction
between an acid and a base, are:

Options:

1. » water and carbon dioxide
2. v water and salt

3. » oxygen and salt

4. » salt and carbon dioxide

Question Number : 72 Question Id : 5861804126 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



SETATSRIOT WshdH 37TT 315 3T &R & o yfatRar &
34T .y

Options:

1. = Sof 3T e SEIHFAES

2. v S AT o@or
3. » Todrele AT ogoT
4. » FTUT A FEA STS3TFATSS

Question Number : 73 Question Id : 5861804127 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

One gram of protein provides ___ Kcal of energy.

Options:

1.+4
2.% 5
3.2 06
4, %7

Question Number : 73 Question Id : 5861804127 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Tk ITH MreT frell FaRT ST U T &l

Options:

1. v 4
2. % 5
3. » 6
4. = 7

Question Number : 74 Question Id : 5861804128 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following is NOT an acid?

Options:



1. % HNO3
9 % CH3COOH
3 x CHYO

4  NaHCO;

Question Number : 74 Question Id : 5861804128 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

o 7 ¥ =19 tF 37 727 27

Options:

1« HNO3

5 CH3COOH

3« CHOy

4. » NaHCO3

Question Number : 75 Question Id : 5861804129 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following districts of Maharashtra has been
identified as the preferred site for LIGO project in India?

Options:

1. * Nashik
2. = Palghar



3. =« Amravati
4. v Hingoli

Question Number : 75 Question Id : 5861804129 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ABRTSE & Toleed A & T Toiel oY 9 A ol (LIGO)
RIS 8] 3UIFT Tl & T A Rifeed foram 3m &

Options:

1. = o8
2. = Trofad
3. = 3TAIEAT
4. v Teaelr

Question Number : 76 Question Id : 5861804130 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is the name of the indigenously developed helicopter
launched anti - tank guided missile developed by DRDO?

Options:

1. = Shaurya
2. » Meghdoot
3. = Astra

4. v Helina

Question Number : 76 Question Id : 5861804130 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

STHNSIT SaRT Tacel TaehTad gellehited SaRT W& T Siiel
grell [ORfaa dRiraer aMsss RIS &7 4T A1H &7

Options:

1. = el
2. = A"




3. = UET
4. v ol

Question Number : 77 Question Id : 5861804131 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

How many types of unique hepatitis viruses are known so far?

Options:

1.4
2.v5
3.2 0
4, =7

Question Number : 77 Question Id : 5861804131 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e Tk Tohdel YR & 3ifegdra guergfed fawmor ard &7

Options:

1. = 4
2. v 5
3. = 6
4. = 7

Question Number : 78 Question Id : 5861804132 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The Birbal Sahni Institute of Palaeosciences (BSIP) is located
at:

Options:

1. v Lucknow
2. * Meerut
3. = Karnal
4. = Allahabad



Question Number : 78 Question Id : 5861804132 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SITsTel g1 QU ATl HEATeT (STTHIEUT) H &g gl

Options:

1. v oI&d3
2. x» WS
3. % hlalol

4. % SOI&THIG

Question Number : 79 Question Id : 5861804133 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HRTSGT ATHGF TS ZgRT TS faed @dfew
IEECICERIEE H eud g

Options:

1. v HATeAl, TdI5d
2. » A&, W
3. * Wolld, Scoll
4. = IMTEIN, STHAT

Question Number : 79 Question Id : 5861804133 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

The World Maritime University, established by the
International Maritime Organization, is located at:

Options:

1. v Malmo, Sweden

2. » Marsellle, France

3. = Florence, Italy

4. = Gottingen, Germany

Question Number : 80 Question Id : 5861804134 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The Indian Institute of Food Processing Technology (IIFPT) is
located at:

Options:

1. = Kundli, Haryana

2. » Manesar, Haryana

3. » Neem Rana, Rajasthan
4. v Thanjavur, Tamil Nadu

Question Number : 80 Question Id : 5861804134 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HRAIT FET THERIUT WieAIeehT HE2Tel (335 THUIL)
H T g

Options:

1. = g%?»‘i’r g
2. = HATQEY, SO
3. = A 0N, e

4. v TR, diHATs
ot ot

Arithmetic Ability1
Group Number : 5
Group Id: 586180196
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
Isthis Group for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

Arithmetic Ability1



Section 1d : 586180200

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 586180275
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 5861804135 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Evaluate:

.25 + 0.5 x 0.8 + 0.64
0.512 — 0.125

Options:
1

1. % 2

2.

Question Number : 81 Question Id : 5861804135 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

g FL

0.25+0.5x 08 +0.64
0.512 —0.125

Options:



Ul |

Question Number : 82 Question Id : 5861804136 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The sum of the first 25 terms of - . . i + ....Is equal to:
3X2 3x4 4X5  5X6  6X7
Options:
25
1. v s4
25

2
3. 0% 27

2
A % sa

Correct Marks: 1 Wrong Marks: 0.25

Question Number : 82 Question Id : 5861804136 Question Type: MCQ Option Shuffling: Yes
1 1
_'|_

1 1
3 =2 3 x4 4 %3

g + ... & Yger 25 9&r & IIET F ATF Id7 F
Options:

1




Question Number : 83 Question Id : 5861804137 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Evaluate:

6.7/3 X 6,73 X 6.75+3.25 X 3.25 % 3.25

3
675 % 675 +325x% 325 — 675 ¥ 325 '
Options:
1. = 0.1
? % 0.0
3. v 0.001
4. % 0.0001

Question Number : 83 Question Id : 5861804137 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

g?»rﬁ:

6.73 X 6.73%6.753+3.25%3.25%3.25 2

673x6T75+325x325—-675x325



Options:

1. = 0.1

2 = 0.0

3. « 0.001
4. = 0.0001

Question Number : 84 Question Id : 5861804138 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Evaluate:

0.0203x1168
0.00073x 145%x7
Options:
1. % 0.32

7 % 0.032

3 v 32

Question Number : 84 Question Id : 5861804138 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
: 0.0203x116.8

g FL =?

0.00073>x14.57

Options:



1. =« 0.32

2 % 0.032
3. v 32
4 = 3.2

Question Number : 85 Question Id : 5861804139 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Evaluate:

249.3 + 2493 + 2.493 + 0.2493
Options:

1. % 276.19863

7 @ 2769723

3. % 276.44973

A » 27634793

Question Number : 85 Question Id : 5861804139 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

geol FL 2493 + 2493 + 2.493 + 0.2493
Options:

1. = 276.19863



2 o 276.9723

3. w 276.44973

4. % 276.34793

Question Number : 86 Question Id : 5861804140 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

g FL

0.32 +1.096
Options:

1. v 1420
2 % 1505
3. % 1.628
4. = 1.704

Question Number : 86 Question Id : 5861804140 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Evaluate:

0.32+ 1.096
Options:



1. v 1.420

"

7 % 1.505

3 x 1.628

A % 1.704

Question Number : 87 Question Id : 5861804141 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Evaluate:

bbb+ 54bb—5005

Options:
1. & 9.075

7 % 9.825

3 % 10.055

A v 11045

Question Number : 87 Question Id : 5861804141 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

gor L 5.55+5+5.5—5.005

Options:

1. = 9.075



2 % 9825

3.« 10.055

4. v 11.045

Question Number : 88 Question Id : 5861804142 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Evaluate:

B2
—
s

Options:
1. & -9.25

? % -10.75

3« 18.75

Question Number : 88 Question Id : 5861804142 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

g T
825 + —=—
PR
345

Options:



1. = -9.25

2 % -10.75
3. ¢ 1875
A4 % 17.65

Question Number : 89 Question Id : 5861804143 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Evaluate:

A

18 — 10 x —=—L
2_

1

Options:
1. = 12

Question Number : 89 Question Id : 5861804143 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



. 8
18 — 10 x 32—
2- 1
6
Options:
1. = 12
21

3. v 13

Question Number : 90 Question Id : 5861804144 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3 . 1 G 1 ; :
A man spends - of his salary on food and _ onrent The remaining = he spends on conveyance. If he is left with ¥ 2900,

what is his salary (in 3)?

Options:
1. = 18225

?_ « 18125
3 x 28125

A. % 29000

Question Number : 90 Question Id : 5861804144 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



v ST e e F  REwr siew X At - R BT W @ e 31 9F O iy &
- frwar gt ) o war 81 afy 3uF A FEer 22900 =S §, & sEE awmer € #) gar w0

Options:

1 = 18225
2.« 18125
3. % 28125
4. % 29000

Question Number : 91 Question Id : 5861804145 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A rectangular courtyard 15 metre * 17 cm long and 17 metre * 22 cm wide is to be paved

exactly with square tiles, all of the same size. What is the largest size (in cm?) of the tile that
could be used for this purpose?

Options:
1. v 41

Question Number : 91 Question Id : 5861804145 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



TF HITATHRT HF fomHr Fag 15 m « 17 cm 3T AL 17 m « 22 em T 3T 30 o= & a0
el FeT TEeE ¥ gee AT ST 2 EW gAEa & T Iumer & S g Sl A T §9W ¥
HFE (cm? H) 9aT FI?

Options:

1. v 41
72w 36
3 = 35
4. = 17

Question Number : 92 Question Id : 5861804146 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

Which of the following is the least number that should be added to 2019 such that the resulting number can be divided
by 3. 4, 5 and 6 leaving no remainder.

Options:
1. = 24

Question Number : 92 Question Id : 5861804146 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

S8 ¥ F @ 0wl A& g § o 2019 F Fed W, god g @A A 3, 4, 5306 A
franfag =@ W F 9w A T2 T

Options:



2 = 39
3. v 21
4 = 31

Question Number : 93 Question Id : 5861804147 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

A farmer wants to utilise his unused field and plans to plant some trees. He plants 176 guava trees, 660 papaya trees and
220 sugarcane trees in equal rows, that is, each row having same number of trees. Also, he wants to make distinct rows
of trees, that is, only one type of tree in one row. The minimum number of such rows that can be formed is:

Options:
1. = 20

2.v 24

Question Number : 93 Question Id : 5861804147 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

v A & 9T Tl THE o BEA g, @ 384 §55 95 99 $F Al S5 g1 38 HAwE
&% 176 U3, Tdid & 660 I3 3R 7e=r & 220 U §A Ufeadr H S0 o¥g o@NT § & 9cde 9fea A
TAE TEOT § 92 1 1y &, 98 9= § FAT-319T 9fFaAT A Igar g, T & v 9fgg J Fae
Teh T T & US Tg| a6 TaT ¢ 3T S0 g &7 U FH ohddl Ioddr g5 1 Hhar &1

Options:




2. v 24
3. = 28
4 = 30

Question Number : 94 Question Id : 5861804148 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The ratio of two numbers is 8 : 3. On adding 5 to both numbers, the ratio becomes 5 : 2. Which is the smaller number
of the two?
Options:

1. v 45

A4 = 13

Question Number : 94 Question Id : 5861804148 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ar HEIT3HT F AT 8 1 3 gl A FEAH A 5 I W, TF HIA 5 1 2 & Far g A FEAt A
OIS HEAT IaT H|
Options:

1. v 45



Question Number : 95 Question Id : 5861804149 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Seema scored twice as many marks in Science as in English. Her total marks in English, Science and Mathematics is
240. If the ratio of her marks in Mathematics and Science is 3 : 2, what are her marks in Mathematics?

Options:
1. = 100

7w 60

3. % 80

A v 120

Question Number : 95 Question Id : 5861804149 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

B 7 ST F geer # e 7 e 3w g v 3w 3R, e el et F e 9 3
240 31 7fg @1t AR o= 7 35F 3 #3931 2 §, A 9 1 F 35 A0 # oA 31w
greq e

Options:

1. « 100



4. v 120

Question Number : 96 Question Id : 5861804150 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In an examination, 35% of the students failed in Mathematics and 44% failed in English. If 28% of the students failed
in both the subjects, then the percentage of students who passed in both the subjects is:

Options:
1. & 51%

7 % 39%

3. % 61%

A, v 49%

Question Number : 96 Question Id : 5861804150 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

v qlleT #H, 35% O MU H AR 44% IR T HFAOT W@ I 28% I A Rt F rgedor
' & O gar #1 &F Fraa wfaeg o | Bwat # 3edor |
Options:

1. = 51%

2 % 39%



3. % 61%

4. v 48%

Question Number : 97 Question Id : 5861804151 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A’s salary is 30% more than B’s. By how much percentage is B’s salary less than A’s?

Options:

1
i ||
1 v 2313 Y
2320
2. % g 0

4
— 0

1 s 24%%

Question Number : 97 Question Id : 5861804151 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A & THSAT B ¥ 30% 30& g1 & 9a1 1 & B Fr 3HSAT A ¥ s gfaea w7 82

Options:

1
1. v Bk

39
2« 23? Yo



Question Number : 98 Question Id : 5861804152 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The price of an article was increased two times successively by 17% each time. By what percentage should the new
price be reduced so as to restore the original price (correct to the nearest integer)?

Options:

1. % 21%

7 % 15%

3. % 24%

Question Number : 98 Question Id : 5861804152 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

U IEG F Hed H g IR 17% F I F @ & 9% Fgrm T g & A0 7o # 77 700 (Reean
quites o forT ®El) aF o & forw faaet afaera @ w87 Fr e afge?

Options:
1. = 21%
2 % 15%

3. % 24%



4. v 27%

Question Number : 99 Question Id : 5861804153 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
The average of 27 numbers is 70. The average of the first 14 numbers is 65 and the average of the last 14 numbers is 74.

If the 14™ pumber is excluded, what is the average of the remaining numbers (approximate to one decimal place)?
Options:
1. = 71.5

? & T70.5

3. % 72

4 = 70

Question Number : 99 Question Id : 5861804153 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

27 GEATHT & AEa 70 T I 14 FEITHT o 3w 65 g A 3w 14 gt #v dtwa 74 & afy
14 3t TEar = RFe Gar Fv, o 9w gEanEt F T (TF Hed T a% Hal) 94T F17

Options:

1 % 715
2. v 705
3w 72



Question Number : 100 Question Id : 5861804154 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
The average weight of a group of 8 girls is 51 kg. If 2 girls, A and B, replace C and D, the average weight becomes 49

kg. The weight of A is equal to weight of B and the weight of C is equal to weight of D. Another girl E is included in
the new group and then the average weight becomes 49 kg. weight of E is equal to weight of C. What is the weight of B
(in kg)?

Options:

1. v

Ln
B |

wn
L

2. %

3w 48

Question Number : 100 Question Id : 5861804154 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

8 wrsfe-al aTer Us WHE 1 HtAa =i 51 kg 81 I 2 @wsfean, A 3fiw B, C 3t D & 3@ o o §,
SramAaa saT 49 kg D T FI AFT IoT B & sy § 3K C &7 3907 D & U 81 U 37
TSR ER AT FAg A uRe o Aar g R aar g T A 49 kg @ A B E FASaT C F
&Y ¥l B FT =17 (kg #H) TaT FI?

Options:

1. v 57
? = b5
3w 48



Arithmetic Ability2

Group Number : 6
Group Id: 586180197
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
Isthis Group for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

Arithmetic Ability2

Section Id : 586180201

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 586180276
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 5861804155 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

If the selling price of 21 articles is equal to the cost price of 25 articles, the approximate loss or gain
percentage is:

Options:
1. v 19% gain

? % 19% loss

3 x 21% gain

4 = 21% loss



Question Number : 101 Question Id : 5861804155 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

It 21 sFgait &1 ffr Ao 25 aTgat F 9N H{ed & SN g, °f AT g AT o qioerd o
|
Options:

1. v 19% =ms

2w 19% @

3. % 21% @

4« 21% g

Question Number : 102 Question Id : 5861804156 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

A shopkeeper earns a profit of 20% after selling a book at 22% discount on the printed price. The ratio of the cost price
and the printed price of the book is:

Options:
1. % 15: 11
? « 13: 20
3. % 3:5

A % 10: 11

Question Number : 102 Question Id : 5861804156 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



U gFER Afhd Ao W 22% & $T F JFae o FY 20% N ATH FACG g1 TFaF & A9
7T 3R 3T F7eT & 39 9T

Options:
1. = 15: 11
2 ¢ 13:20
3 % 3:5
4, = 10: 11

Question Number : 103 Question 1d : 5861804157 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A watch dealer incurs an expense of ¥ 150 for producing every watch. He also incurs an additional expenditure of ¥
20,000, which is independent of the number of watches produced. If he is able to sell a watch during the season, he sells
it for ¥ 250. If he fails to do so, he has to sell each watch for ¥ 100. If he produces 2000 watches, what is the number of
watches that he must sell during the season in order to breakeven (no profit or no loss), given that he is able to sell all
the watches produced?

Options:
1. = 700

7 % 1000

3.« 800

A % 1200

Question Number : 103 Question Id : 5861804157 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



T U2 AT 9ode U & 3o & T T 150 & @ ag &aT g1 3¢ T 20,000 = sfaftea @
off YT §, S 3efea Gfsdl @ W ¥ ST 2 gl g I8 W F AN gF a9 F §atH g g,
=IO F T ITT I R WM FA IR T g T ITRF o= A T 100 7
=T TST g1 TG 9% 2000 ©fEA F FeS FaT &, O T W F 30 T F ST Graer ufEan
I TRT & (30 FS oy ;W aF T @), T W F I7 souwfea wah aftat Fr v F e 2

Options:

1 % 700
2 % 1000
3. « 800
A % 1200

Question Number : 104 Question Id : 5861804158 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A person bought an article for 35% discount. If he were to get no discount, then he would have had to pay ¥ 224 more.
How much did he pay for the article (in 3)?

Options:
1. v 416

3. % 864

A % 224

Question Number : 104 Question Id : 5861804158 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



U fFd 7 35% G W UF TG WA TG 3V FIg g G Herd, O 387 T 224 # A3UF A=
FLAT g3aTl dF Ia1 H {5 3ua 9vg & v fraan spera= € #) e

Options:
1. v 416
2w 640
3. % 864
4. = 224

Question Number : 105 Question Id : 5861804159 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25
When the payment is made online to buy a TV from an electronic store, the discount offered is 10%. Additional
discount of 5% is given to credit card holders. Ram buys a TV set of ¥ 25000 by paying online and pays through his
credit card. How much does he need to pay (in 3)?

Options:
1. & 22500

7« 21375

3 % 11590

A % 18250

Question Number : 105 Question Id : 5861804159 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



TH Soagle TR SN Bled §AY, s A S W 10% Hr ge & AT g1 HiET F
U F 5% Fr HAfET o & I &1 T s THEET FY, IS FHEE FE F AeIA J
ST FTa T 25000 T &Y T @ligar g1 gar # & 3w feger spaw € #) e

Options:

1 % 22500
2. « 21375
3 % 11590
4 % 18250

Question Number : 106 Question Id : 5861804160 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In 9 years, the simple interest on certain sum of money is = of the principal. The annual rate of interest is:

Options:
1. = 3%

? & 5%

4 = 4%

Question Number : 106 Question Id : 5861804160 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

gaﬁﬁ,wﬁﬁmrﬁwwmwm% g e af¥eR sars T 9ar Y|

Options:



1. = 3%

2. v 5%
3. % 45%
4 = 4%

Question Number : 107 Question Id : 5861804161 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
A man earns 6% per annum at simple interest on his deposits in Bank A, while he earns 8% per annum simple interest
on his deposits in Bank B. If the total interest he earns is T18000 in three years on an investment of ¥ 90000. what is the
difference in amount (in 3) invested at 6 % and the amount invested at 827

Options:
1. « 30000

7 % 60000

3. = 18000

A. % 54000

Question Number : 107 Question 1d : 5861804161 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T AfFT g% A H HOAT FAT TR 0¥ 6% wfaay Y a7 ¥ guner surs H#iET Far g, F69F 97 9
B & =T ST UM W 8% Taew H X ¥ TYURYT =01 HiSAd Far g1 I 37 &= It # T 90000
& fder o7 For T 18000 =u= 3fAa & 7, aF 9ar {384 6% AR 8% & W et ufer (3 #)
=aer TR

Options:



1. « 30000

2 % 60000
3. % 18000
4. % 54000

Question Number : 108 Question Id : 5861804162 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Arun took a loan of I 1500 with simple interest for as many years as the rate of interest. If he paid ¥ 240 as interest at
the end of the loan period. what was the rate percent of interest per annum?

Options:
1. = 8

Question Number : 108 Question 1d : 5861804162 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HIOT o OIS EF & & & Iul & fore gremor sars 97 T 1500 &1 =T foram) ofg 5= wor 3afr &
T H TS F T H T 240 F AT BT B, AMMGE AT & T B2

Options:

1. = 8



Question Number : 109 Question 1d : 5861804163 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A sum of money lent at compound interest for 2 years at 20% per annum would fetch T 3615 more, if the interest was
pavable half yearly than if it was payable annually. The sum (in 3) is:

Options:
1. % 180000

7 % 120000

3. % 240000

A. » 150000

Question Number : 109 Question Id : 5861804163 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

U ARTd TR & 20% TI¥E Tegie =0 &7 W 2 I¥ & B 39R 37 W T 3615 #&s wred g
¥, O = & widay #r g=v wdEies gan ufr @ ) gar #{

Options:

1. %= 180000

2 % 120000



3. % 240000

4. v 150000

Question Number : 110 Question Id : 5861804164 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A sum of money has been invested on compound interest. The amount to which it grows in four years is 116.64% times
more than to what it grows in two years. What is the percentage rate of interest per annum?

Options:
1. = 7.5%

Z2. « 8%

3. % 84%

4. & 8.75%

Question Number : 110 Question Id : 5861804164 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

v fafaa offr sergfx eorer 9¢ f@er #r a% &1 =19 57 Ui & AR v & R A9 R s g @
g 2 39 & fov foder &7 & g # 116.64% Fgar g1 AMEF U= & Tar 12

Options:

1. = 7.5%

2. v 8%

3. % 8.4%



4. % 8.75%

Question Number : 111 Question Id : 5861804165 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

The following figure shows two concentric circles with centre O. PQRS is a square inscribed in the outer circle. The
inner circle is inscribed within the square, touching it at points B, C, D and A. What is the ratio of the circumference of
the outer circle to that of the perimeter of ABCD, if the length of each side of square PQRS is 5 cm?

P B Q
A 0 [
Options:
1 = m: 4
? % m: 8
3 v m: 2
4 = m: 6

Question Number : 111 Question Id : 5861804165 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A & 1% 3Py S O I & Hebfed ged gl &1 PQRS &M@Y ged & &1 T I91 g1 I AR
gea @ o 9feTd e g, 3R s Rig B, C, D 3R A T w9 &ar €1 Ifg PQRS &3 @ Fede o=
#T o@1g 5 cm g, @ FEdr gea F 9RfY 3 ABCD @ 9RfY # seqara war w7

P B L]

A.\Cl c

5 D R
Options:



3. v w2

4 = m:6

Question Number : 112 Question 1d : 5861804166 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In an equilateral triangle, three symmetrical sections are cut as shown.

<

o

\

What is the area of the shaded region?

Options:

1 v Z(@2V3-m
) Z(@2V3+m
3. % TOE-D)
4« TOE+m

Question Number : 112 Question Id : 5861804166 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



THaTg e A, O @AfAd @E F AW HEr FIET TR §| HHAAE Sifed 89 & a6 T H?

\

Options:

1 o F@B-m

5 Z(@2V3+m
3, .« 703D
4 T W3+m

Question Number : 113 Question Id : 5861804167 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What will be the cost of polishing the curved surface area of a solid cylinder at the rate of T 12 per sq. m, if its diameter

i i a 22
is 50 cm and height is 7 m (use m = ?) ?

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.
Options:

1. T 264
2 T250

3. T284



4. 7300

Question Number : 113 Question Id : 5861804167 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T 3 fHesT & AR Fag &F # T 12 9 sq.m Fr gx & Aiferer = F werd Fw geh, afy

s E 50 cm IR FR T m E (n=2)?

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.

Options:

1. T 264
2 T 250
3. T 284
4. %300

Question Number : 114 Question Id : 5861804168 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

A can finish a task in 24 days and B can finish the same task in one third the time taken by A. Then, working together,
what part of the same work they can finish in six days?

Options:
1. & 97.8%

7« 100%

3. % 98%



A % 96%

Question Number : 114 Question Id : 5861804168 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A TF FE F 24 A F R A TFar § 3R B 3@ FY F A @ v v gww v e g
#H I F T gl R, v T F W g, 3@ w ¥ 5w o 7 3 oF e A o w87

Options:

1 % 97.8%
2.« 100%
3. % 98%
4 % 96%

Question Number : 115 Question Id : 5861804169 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

7 men, 8 women and 14 boys can complete a task in 5 days. A woman does double the work a man does and a boy does
half the work a man does. How many women alone can complete this task in 3 days?

Options:
1. = 15

? % 10

3 o= 20

A 25

Question Number : 115 Question Id : 5861804169 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25
?gﬁq,snﬁaﬁaﬁrmﬂs*w*mﬁEﬁﬁﬁwmm%lwnﬁmwwﬁaﬁﬂmm
FA € 3R UF T TF W T AT FH FAT gl o T F B ke e Afgee 5@ 1 #r 3
fe & U X F=r B2

Options:

1. = 15
2 = 10
3. = 20
4. v 25

Question Number : 116 Question Id : 5861804170 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

A person goes to his office at 1/3rd of the speed at which he returns from his office. If the average speed during the
whole trip is 18 kmph, what is the speed (in kmph) of the person while he was going to his office?

Options:

1. % 8

? % 10

3.v 12

4 = 14

Question Number : 116 Question Id : 5861804170 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TF dAfFd & W ¥ FEET A= @ iy FEtew F X A foafa & 13 g ool @ amr F ol
Ity 18 kmph &, ar =@feg Fr FEwT 9 §AT Fr 71T (kmph &) 901 FI?

Options:




2 = 10
3 v 12
4 = 14

Question Number : 117 Question Id : 5861804171 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A man can row 5 km upstream and 4 km downstream in 36 minutes. He can also row 10 km upstream and 2 kim

: - - : ; ; e :
downstream in 5 l; minutes. What is the ratio of the speed of his rowing in still water to that of the stream?

Options:

1. = 7:1
? % 11:3
3.« 23:3

4 = 8:1

Question Number : 117 Question Id : 5861804171 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

v OfFd 36 fAae # 5 km gfavarg HX 4 km F9aE AT FoT Hehal %I&'%‘Slg e & 10 km
Sfawag AR 2 km HTTAE A8 Tol Fehal g1 3HH 2R TeAr 3R gag # 719 Foe H Ay w
HAT T F?

Options:



2 % 11:3
3 v 23:3
4 = 8:1

Question Number : 118 Question Id : 5861804172 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
What is the area of the square field if a train 600-metre long passes the field with a speed of 120 kmph in one minute?

Options:
1. % 1.44km?

7  1.96 km?

Question Number : 118 Question Id : 5861804172 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

I F e AT TN T 120kmph Froaf A or s T e AR FE g g T ag =
a9 % fohaaT gem?

Options:

1. = 1.44 km?



7 ¢ 196 km?

3. x 256 km?

4 = 1.26 km?

Question Number : 119 Question Id : 5861804173 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The following table shows the number of seats reserved in different classes in a train on five different days. The
capacity of each class is given in the bracket.

Day 2 I 1M1 I I
Class | Class | Tier | Tier | Tier
Non- | Nen- | AC | AC | AC
AC | AC |(500)|(250) | (150)
(900) | (500)
Monday 750 | 410 | 390 | 240 | 145
Tuesday 820 | 400 | 450 | 230 | 120
Wednesday | 730 | 360 | 480 | 220 | 130
Thursday 640 | 480 | 490 | 190 | 122
Friday 700 | 490 | 495 | 210 | 140

What is the ratio of the number of vacant seats in AC classes on Monday to the number of reservations in non-AC
classes on Friday?

Options:
1. = 238:17

? « 25:238

3. % 343:9

4 = 9:343

Question Number : 119 Question Id : 5861804173 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



F & T T vE I F O e A # Rffew At F smf@e @t & g o e
¥l 9 Aol Fr eTHar dae F & 9 T

e AECICEE D oo B o e g
Fofr Aig- | Aofr dr o oY

Ty et | (500) | (250) |(150)
(900) | (500)
gEET | 750 410 390 240 145
FIeER | 820 400 450 230 120
quar | 730 360 480 220 130
TFAR | 640 480 480 190 122
gFaR | 700 490 495 210 140

AR # TE AT 7 e At Fr T R gEan # d-wdr AT # aReror # wEar & e
9T FL?
Options:

1. = 238:17

2 o 25:238
3. % 343:9
4. % 9:343

Question Number : 120 Question Id : 5861804174 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The following table shows the number of seats reserved in different classes in a train on five different days. The
capacity of each class is given in the bracket.

Day 200 | |n I | 1 I
Class | Class | Tier | Tier | Tier
Non- | Non- AC | AC | AC

AC | AC [(500) | (250)| (150)
(900) | (500)

Monday 750 | 410 | 390 | 240 | 145
Tuesday 820 | 400 | 450 | 230 | 120
Wednesday | 730 | 360 | 480 | 220 | 130
Thursday 640 | 480 | 490 | 190 | 122
Friday T00 | 490 | 495 | 210 | 140

If the data related to the I Tier AC reserved seats is represented by a pie-chart, then the central angle of the sector
representing reserved seats in I Tier AC for Friday is (correct to nearest integer):

Options:
1.« 77°

? #% 89°

3 = 78°

4 = 76°

Question Number : 120 Question Id : 5861804174 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Ar=r & 915 aIforeRT T ¢ H 9T eer-3terT G 7 Rfdes At # smfEe det & g 7 e
g T AUl dr eTHEaT de 7 & 7

&= e (wE Aok (ndmR (ndm || &
Aofr fr- | fewr THr T Tt

| THT (900) | (500) (500) (250) | (150)
#wEw | 750 410 390 240 145
AR | 820 400 450 230 120
Q@R | 730 360 480 220 130
TER | 640 480 490 190 122
AR | 700 450 495 210 140

ofE | daT wE F v aRfae @ ¥ §EfhT 3T & TE-Ae ganT gar A g, & gFan & v
&R ol F vt 3REE det # g aer FR F FHET FoT (Feeas quiw F e w@E) gaqr w1

Options:



1. ¢ 77°

2w 89°
3. = 78°
4 = 76°
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Question Number : 121 Question Id : 5861804175 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose then option that conveys the meaning of the
underlined idiom:

I have read the passage a couple of times but I still can’t get
the hang of it.

Options:

1. v get the main idea

2. » miss the meaning
3. = easy to understand
4. = difficult to imagine

Question Number : 121 Question Id : 5861804175 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose then option that conveys the meaning of the

underlined idiom:

| have read the passage a couple of times but | still can’t

get the hang of it.

Options:

1. v get the main idea
2. * miss the meaning
3. = easy to understand
4. = difficult to imagine

Question Number : 122 Question Id : 5861804176 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Choose then option that conveys the meaning of the
underlined idiom:

Sooner or later you have to support either your wife or your
parents. You just can’t sit on the fence for a long time.

Options:

1. = taking sides

2. v being neutral
3. #» supporting one side
4. = to be impractical

Question Number : 122 Question 1d : 5861804176 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose then option that conveys the meaning of the

underlined idiom:

Sooner or later you have to support either your wife or your

parents. You just can’t sit on the fence for a long time.

Options:

1. = taking sides

2. v being neutral

3. % supporting one side
4. = to be impractical

Question Number : 123 Question Id : 5861804177 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blanks with the correct expression:

His conduct a severe punishment.

Options:



1. v calls for
2. » calls after
3. = calls out
4. = call in

Question Number : 123 Question Id : 5861804177 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blanks with the correct expression:

His conduct a severe punishment.

Options:

1. v calls for
2. % calls after
3. % calls out

4. = call In

Question Number : 124 Question Id : 5861804178 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blanks with the correct expression:

Far from the applause she expected, her speech

Options:

1. = fell out
2. » fell off
3. v fell flat
4. = fell foul

Question Number : 124 Question 1d : 5861804178 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Fill in the blanks with the correct expression:

Far from the applause she expected, her speech

Options:

1. = fell out
2. = fell off
3. v fell flat
4. = fell foul

Question Number : 125 Question Id : 5861804179 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option that is the correct one word substitution for
the given phrase.

related to sound

Options:

1. = oral

2. ® aquatic
3. = opaque
4. v acoustics

Question Number : 125 Question Id : 5861804179 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option that i1s the correct one word substitution

for the given phrase.

related to sound

Options:

1. = oral



2. * aquatic
3. ®= opaque
4. v acoustics

Question Number : 126 Question Id : 5861804180 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the correct option to fill in the blank:

No one can predict how politician will act after winning
election.

Options:

1. = an, the
2. v 4, the
3. % an, an
4. = the, a

Question Number : 126 Question Id : 5861804180 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the correct option to fill in the blank:

No one can predict how politician will act after
winning election.
Options:

1. = an, the
2. v a, the
3. % an, an

4. = the, a

Question Number : 127 Question Id : 5861804181 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Choose the correct option to fill in the blank:

When purchasing something you will have for long

time, like a house, insurance etc, choose best

within your means.

Options:

1. = a, a, the

2. = the, an, the
3. = g, the, the
4. v a, an, the

Question Number : 127 Question 1d : 5861804181 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the correct option to fill in the blank:

When purchasing something you will have for
time, like a house, Insurance etc, choose

within your means.

Options:

1. = a, a, the
2. = the, an, the
3. = a, the, the
4. v a, an, the

Question Number : 128 Question Id : 5861804182 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

long

best



Choose the correct option to fill in the blank:

Distribute the sweets the children, and share the
chocolate your sister.
Options:

1. = between, between
2. v among, with

3. = with, between

4, = for, with

Question Number : 128 Question Id : 5861804182 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the correct option to fill in the blank:

Distribute the sweets the children, and share the
chocolate your sister.
Options:

1. = between, between
2. v among, with
3. = with, between

4. = for, with

Question Number : 129 Question Id : 5861804183 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the correct option to fill in the blank:

The injured horse tried to jump the wall and fell
the ground.

Options:

1. = above, in



2. = above, on
3. v over, on
4. = gver, In

Question Number : 129 Question Id : 5861804183 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the correct option to fill in the blank:

The Injured horse tried to jJump the wall and fell

the ground.

Options:

1. = above, In
2. %= above, on
3. v over, on
4. = over, In

Question Number : 130 Question Id : 5861804184 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the correct option to fill in the blank:

I don’t read much, my sister who reads a book a day.

Options:

1. » however

2. » whereas

3. = nevertheless
4. v unlike

Question Number : 130 Question Id : 5861804184 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Choose the correct option to fill in the blank:

| don’t read much, my sister who reads a book a

day.
Options:

1. = however
2. * whereas
3. # nevertheless

4. v unlike

Question Number : 131 Question Id : 5861804185 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the correct option to fill in the blank:

I am not feeling too good, I will come to your party in
the evening.

Options:

1. = therefore

2. » whereas

3. = hence

4. v nevertheless

Question Number : 131 Question Id : 5861804185 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the correct option to fill in the blank:

| am not feeling too good, | will come to your party

In the evening.

Options:



1. = therefore
2. = whereas
3. ® hence

4. v nevertheless

Question Number : 132 Question Id : 5861804186 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the correct option to fill in the blank:

We saw my aunt in the park, but did not see

Options:

1. = she, her
2. v she, us
3. = we, her
4, = we, Us

Question Number : 132 Question Id : 5861804186 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Choose the correct option to fill in the blank:

We saw my aunt in the park, but did not see

Options:

1. = she, her
2. v she, us
3. = we, her
4. = we, US

Question Number : 133 Question Id : 5861804187 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

Choose the correct option to fill in the blank:

Those two books on Nutrition are . My father gave
to me.

Options:

1. ¥ mine, them
2. » his, it

3. = hers, them
4. = QUrs, It

Question Number : 133 Question 1d : 5861804187 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the correct option to fill in the blank:

Those two books on Nutrition are . My father gave

to me.

Options:

1. ¥ mine, them
2. = his, it
3. = hers, them
4, = ours, It

Question Number : 134 Question Id : 5861804188 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the correct option to fill in the blank:

As for , I allow people to have own way.

Options:

1. = mine, our



2. % me, its
3. v me, their
4. = you, their

Question Number : 134 Question Id : 5861804188 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the correct option to fill in the blank:

As for , | allow people to have own way.

Options:

1. = mine, our
2. * me, Its

3. ¥ me, their
4. % you, thelr

Question Number : 135 Question Id : 5861804189 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the correct option to fill in the blank:

my friends came to see me when I was ill.

Options:

1. v None of
2. * NO one

3. = None

4. = No one of

Question Number : 135 Question Id : 5861804189 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Choose the correct option to fill in the blank:

my friends came to see me when | was Ill.

Options:

1. v None of
2. = No one
3. = None

4. = No one of

Question Number : 136 Question Id : 5861804190 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option that is the correct passive voice of the given
sentence:

Don’t buy these apples as they are not sweet.

Options:

1. = These apples will not to be bought as they are not sweet.
2. v These apples should not be bought as they are not sweet.
3. = These apples were not bought as they were not sweet.
4. = These apples can not be bought as they are not sweet.

Question Number : 136 Question Id : 5861804190 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option that i1s the correct passive voice of the

given sentence:

Don’t buy these apples as they are not sweet.

Options:



1. = These apples will not to be bought as they are not

sweet.

2. v These apples should not be bought as they are not

sweet.
3. = These apples were not bought as they were not sweet.

4, = These apples can not be bought as they are not sweet.

Question Number : 137 Question Id : 5861804191 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option that is the correct active voice of the given
sentence:

These keys should always be kept in this box.

Options:

1. v Always keep these keys in this box.
2. = Always Kept these keys in this box.
3. = You keep these keys in this box.

4. = You will keep these keys in this box.

Question Number : 137 Question Id : 5861804191 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option that I1s the correct active voice of the

glven sentence:

These keys should always be kept in this box.

Options:

1. v Always keep these keys in this box.

2. » Always kept these keys in this box.



3. * You keep these keys In this box.

4. = You will keep these keys In this box.

Question Number : 138 Question Id : 5861804192 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option that is the correct indirect form of the given
sentence:

Ramesh said to Gita, “Don’t ever cross your limits with me.”

Options:

1. » Ramesh said to Gita to never cross her limits with her.

2. v Ramesh warned Gita to never cross her limits with him.
3. = Ramesh warned Gita to never cross his limits with her.
4. » Ramesh warned Gita to never cross her limits with them.

Question Number : 138 Question Id : 5861804192 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option that is the correct indirect form of the

given sentence:

Ramesh said to Gita, “Don’t ever cross your limits with me.”

Options:

1. * Ramesh said to Gita to never cross her limits with her.
2. v Ramesh warned Gita to never cross her limits with him.
3. = Ramesh warned Gita to never cross his limits with her.

4. = Ramesh warned Gita to never cross her limits with

them.

Question Number : 139 Question Id : 5861804193 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Choose the option that is the correct direct speech of the given
sentence:

My father advised me not to keep the cell phone under my
pillow.

Options:
1. = My father said to me, “You will not keep the cell phone
under your pillow.”

2. = My father said to me, “You may not keep the cell phone.”

3. v My father said to me, “You should not keep the cell phone
under your pillow.”

4. = My father said to me, “You cannot keep the cell phone
under your pillow.”

Question Number : 139 Question Id : 5861804193 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option that i1s the correct direct speech of the

glven sentence:

My father advised me not to keep the cell phone under my

pillow.

Options:

1. = My father said to me, “You will not keep the cell

phone under your pillow.”

2. » My father said to me, “You may not keep the cell

phone.”

3. v My father said to me, “You should not keep the cell

phone under your pillow.”



4. = My father said to me, “You cannot keep the cell phone

under your pillow.”

Question Number : 140 Question Id : 5861804194 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

There are four parts of a sentence. Choose the option with the error :

I was waiting for vou in the park since two o’clock.
(1) (2) (3) (4)
Options:

1. v I was waliting

2. = for you
3. » in the park
4. = since two o’clock.

Question Number : 140 Question Id : 5861804194 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

There are four parts of a sentence. Choose the option with the error :

I was waiting for you in the park since two o’clock.
(1) (2) (3) (4)
Options:

1. v | was waiting
2. = for you
3. = In the park

4. = since two o’clock.
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Question Number : 141 Question Id : 5861804195 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option which is the synonym of the given word.

Venerate

Options:

1. = dishonor
2. = offend

3. v respect

4. = disrespect

Question Number : 141 Question Id : 5861804195 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option which is the synonym of the given word.

Venerate

Options:

1. = dishonor



2. = offend
3. v respect

4, = disrespect

Question Number : 142 Question Id : 5861804196 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option which is the synonym of the given word:

derision

Options:

1. = appreciate
2. v ridicule

3. = applause
4. = praise

Question Number : 142 Question Id : 5861804196 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option which is the synonym of the given word:

derision

Options:

1. = appreciate
2. v rndicule
3. » applause
4. = praise

Question Number : 143 Question Id : 5861804197 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Choose the option which is the synonym of the given word:

veracity

Options:

1. = hypocrisy

2. » deceit

3. = virtuousness
4. v truthfulness

Question Number : 143 Question Id : 5861804197 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option which is the synonym of the given word:

veracity

Options:

1. = hypocrisy
2. = decelt
3. % virtuousness

4. v truthfulness

Question Number : 144 Question Id : 5861804198 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option which is the synonym of the given word:

paucity
Options:

1. = poverty
2. ¥ scarcity
3. » abundance



4. = weakness

Question Number : 144 Question Id : 5861804198 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option which is the synonym of the given word:

paucity

Options:
1. = poverty
2. v scarcity

3. ® abundance

4. = weakness

Question Number : 145 Question 1d : 5861804199 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option which is the synonym of the given word:

temerity

Options:

1. v audacity
2. * modesty
3. » calmness
4. = shyness

Question Number : 145 Question Id : 5861804199 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option which is the synonym of the given word:

temerity

Options:



1. v audacity
2. * modesty
3. # calmness
4. % shyness

Question Number : 146 Question Id : 5861804200 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option which is the antonym of the given word:

elucidate

Options:

1. = clarify

2. = explain
3. v confuse
4. = analyse

Question Number : 146 Question Id : 5861804200 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Choose the option which is the antonym of the given word:

elucidate

Options:

1. = clarify
2. % explain
3. v confuse

4, = analyse

Question Number : 147 Question 1d : 5861804201 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Choose the option which is the antonym of the given word:

scathing

Options:

1. = Incisive

2. *» sharp tongued
3. » rough

4. v gentle

Question Number : 147 Question Id : 5861804201 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option which is the antonym of the given word:

scathing

Options:

1. = Incisive

2. » sharp tongued
3. = rough

4. v gentle

Question Number : 148 Question Id : 5861804202 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option which is the antonym of the given word:

restive

Options:

1. = unlawful
2.  disobedient
3. = defilant



4. v cooperative

Question Number : 148 Question Id : 5861804202 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option which is the antonym of the given word:

restive

Options:

1. = unlawful
2. = disobedient
3. = deflant

4, v cooperative

Question Number : 149 Question 1d : 5861804203 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option which is the antonym of the given word.

Latent

Options:

1. = dormant

2. v active

3. = dead

4. = non functional

Question Number : 149 Question Id : 5861804203 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option which is the antonym of the given word.

Latent

Options:



1. = dormant
2. v active
3. = dead
4. = non functional

Question Number : 150 Question Id : 5861804204 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option which is the antonym of the given word.

Vacillate

Options:

1. = uncertain
2. » hegsitate
3. v decisive
4. = falter

Question Number : 150 Question Id : 5861804204 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Choose the option which is the antonym of the given word.

Vacillate

Options:

1. = uncertain
2. % hesitate
3. ¢ decisive

4. = falter

Sub-Section Number: 2
Sub-Section I d: 586180279



Question Shuffling Allowed : Yes

Question Id : 5861804205 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
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Question Numbers: (151 to 155)

Question Label : Comprehension



Read the passage and answer the following questions:

I’s the poster characteristic of the teenager years: adolescent
rebellion. And iU’s one that causes many conflicts with parents.
Two comimon types of rebellion are against fitting in socially
(rebellion of non-conformity) and against adult authority
(rebellion of non-compliance). In both types, rebellion attracts
adult attention by offending it.

The young person proudly asserts individuality from what
parents like or independence of what parents want and in
each case succeeds in provoking their disapproval. This is
why rebellion, which is simply behavior that deliberately
opposes the ruling norms or powers that be, has been given a
good name by adolescents and a bad one by adults.

The reason why parents usually dislike adolescent rebellion is
not only that it creates more resistance to their job of
providing structure, guidance, and supervision, but because
rebellion can lead to serious kinds of harm. Rebellion can
cause young people to rebel against their own self-interests —
rejecting childhood interests, activities, and relationships that
often support sell-esteem. It can cause them to engage in self-
defeating and self-destructive behavior — refusing to do
school work or even physically hurting themselves.

It can cause them to experiment with high-risk excitement —
accepting dares that as children they would have refused. It
can cause them to reject safe rules and restraints — letting
impulse overrule judgment to dangerous effect and it can
cause them to injure valued relationships — pushing against
those they care about and pushing them away.

So adolescent rebellion is not simply a matter of parental
aggravation,; it is also a matter of concern. Although the
young person thinks rebellion is an act of independence, it
actually never is. It is really an act of dependency. Rebellion
causes the young person to suspend sell-definition and do the
opposite of what other people want.

That's why the antidote for rebellion is the true independence
offered by creating and accepting a challenge — the young
person deciding to do something hard with themselves for
themselves in order to grow themselves. The teenager who
finds a lot of challenges to engage with, and who has parents
who support those challenges, doesn’t need a lot of rebellion
to transform or redefine him or herself in adolescence.
Serious rebellion typically begins at the outset of adclescence,
and when it does many parents think this opposition is
against them. They are usually mistaken. Rebellion is not
against them; it is only acted out against them.

Rebellion at the beginning of teens is primarily a process
through which the young persen rejects the old child identity
that he or she now wants to shed to clear the way for more
grown up redefinition ahead. Rebellion at this early
adolescent age proclaims: “I refuse to be defined and treated
as a child any more!” Now he knows how he doesn’t want to
be, but he has yet to discover and establish how he does want
to be.

How should parents respond to strong rebellion at this stage?
When requests are met with delay, use patient insistence to
wear down resistance. And try to move the early adolescent
from acting out to talking out. Begin by asking, “can you help
me better understand what you need?” See if you can get the
young person to put their feelings into words. Having heen
given a full hearing and having had his or her say, the young
persen may now be more inclined to let parents have their
way.



Sub questions

Question Number : 151 Question Id : 5861804206 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘poster characteristic of teenage years’ means:

Options:

1. » a poster of a teenager.

2. = a poster showing activities of a teenager.
3. v a trait which epitomizes a teenager.

4. = characteristics of a good teenage poster

Question Number : 152 Question Id : 5861804207 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

According to the passage, parents do not like teen ager’s
rebellion because:

Options:

1. v It hinders their duties as parents and also they think that
the children would come to harm.

2. = Parents think that their children must follow them.
3. # Parents think that rebellion leads to violent behaviour.
4. = Parents do not like their teenagers becoming independent.

Question Number : 153 Question Id : 5861804208 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of these is NOT a form of teen age rebellion?

Options:

1. = Indulging in risky activities.

2. v Continuing to enjoy childhood activities.
3. » Messing up relationships.

4. = Ignoring rules for safety.

Question Number : 154 Question Id : 5861804209 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of these ideas does the writer NOT believe in?



Options:

1. = Teenage rebellion is against conformity and compliance.
2. v There is no way to stop teenager rebellion.

3. = A teenager may not need to rebel in order to redefine
him/herself.

4. = Patient listening by the parents and allowing the teen to
talk can help the child.

Question Number : 155 Question Id : 5861804210 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What are the first signs of teenage rebellion?

Options:

1. v Not wanting to be thought of as a child.
2. = Not wanting to be seen with parents.

3. = Saying no to all adults.

4. = Wanting parental guidance.

Question Id : 5861804205 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (151 to 155)

Question Label : Comprehension



Read the passage and answer the following questions:

It's the poster characteristic of the teenager years:
adolescent rebellion. And it’s one that causes many conflicts
with parents.

Two common types of rebellion are against fitting in socially
(rebellion of non-conformity) and against adult authority
(rebellion of non-compliance). In both types, rebellion attracts
adult attention by offending it.

The young person proudly asserts individuality from what
parents like or independence of what parents want and in
each case succeeds in provoking their disapproval. This is
why rebellion, which is simply behavior that deliberately
opposes the ruling norms or powers that be, has been
given a good name by adolescents and a bad one by adults.
The reason why parents usually dislike adolescent rebellion
is not only that it creates more resistance to their job of
providing structure, guidance, and supervision, but because
rebellion can lead to serious kinds of harm. Rebellion can
cause young people to rebel against their own self-interests
— rejecting childhood interests, activities, and relationships
that often support self-esteem. It can cause them to engage
in self-defeating and self-destructive behavior — refusing to
do school work or even physically hurting themselves.

It can cause them to experiment with high-risk excitement —
accepting dares that as children they would have refused. It
can cause them to reject safe rules and restraints — letting
impulse overrule judgment to dangerous effect and it can
cause them to injure valued relationships — pushing against
those they care about and pushing them away.

So adolescent rebellion is not simply a matter of parental
aggravation; it is also a matter of concern. Although the
young person thinks rebellion is an act of independence, it
actually never is. It is really an act of dependency.
Rebellion causes the young person to suspend self-definition
and do the opposite of what other people want.

That's why the antidote for rebellion is the true
independence offered by creating and accepting a challenge
— the young person deciding to do something hard with
themselves for themselves in order to grow themselves. The
teenager who finds a lot of challenges to engage with, and
who has parents who support those challenges, doesn’t
need a lot of rebellion to transform or redefine him or
herself in adolescence.

Serious rebellion typically begins at the outset of
adolescence, and when it does many parents think this
opposition is against them. They are usually mistaken.
Rebellion is not against them; it is only acted out against
them.

Rebellion at the beginning of teens is primarily a process
through which the young person rejects the old child identity
that he or she now wants to shed to clear the way for
more grown up redefinition ahead. Rebellion at this early
adolescent age proclaims: “| refuse to be defined and
treated as a child any morel” Now he knows how he doesn’
t want to be, but he has yet to discover and establish how
he does want to be.

How should parents respond to strong rebellion at this
stage? When requests are met with delay, use patient
insistence to wear down resistance. And try to move the
early adolescent from acting out to talking out. Begin by
asking, “can you help me better understand what you
need?” See if you can get the young person to put their
feelings into words. Having been given a full hearing and
having had his or her say, the young person may now be
more inclined to let parents have their way.



Sub questions

Question Number : 151 Question Id : 5861804206 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘poster characteristic of teenage years’ means:

Options:

1. = a poster of a teenager.
2. » a poster showing activities of a teenager.
3. v a trait which epitomizes a teenager.

4. = characteristics of a good teenage poster

Question Number : 152 Question Id : 5861804207 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

According to the passage, parents do not like teen ager’s

rebellion because:

Options:

1. ¢ It hinders their duties as parents and also they think

that the children would come to harm.
2. % Parents think that their children must follow them.
3. = Parents think that rebellion leads to violent behaviour.

4, = Parents do not like their teenagers becoming

Independent.

Question Number : 153 Question Id : 5861804208 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of these i1s NOT a form of teen age rebellion?

Options:

1. = Indulging In risky activities.

2. v Continuing to enjoy childhood activities.



3. » Messing up relationships.

4. = Ignoring rules for safety.

Question Number : 154 Question Id : 5861804209 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of these ideas does the writer NOT believe In?

Options:

1. = Teenage rebellion 1s against conformity and compliance.
2. v There I1s no way to stop teenager rebellion.

3. = A teenager may not need to rebel in order to redefine

him/herself.

4. = Patient listening by the parents and allowing the teen

to talk can help the child.

Question Number : 155 Question 1d : 5861804210 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What are the first signs of teenage rebellion?

Options:

1. v Not wanting to be thought of as a child.
2. = Not wanting to be seen with parents.

3. = Saying no to all adults.
4

= Wanting parental guidance.
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Sub-Section 1d: 586180280
Question Shuffling Allowed : Yes

Question Id : 5861804211 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (156 to 160)

(Question Label : Comprehension



Read the passage and answer the following questions:

Consider yourself lucky whenever you pour yourself a glass of
walter. Today, on every continent in the world, there are
people who, because of water scarcity, spend their entire day
looking for clean water.

According to reports the United Nations created as part of the
Water for Life initiative and the non-proefit water.org, one in
ten people do not have access to clean water. Worldwide, that
is roughly 783 million people. Imagine 783 million people
who struggle daily for the clean drink of water that luckier
people wake up to.

There are two kinds of water scarcity. The first is physical
waler scarcity, which occurs in areas without natural water
resources, such as deserts like the Sahara. The second is
economic water scarcity, which occurs in areas where there
are enough water resources for people to use, but they are
poorly managed and allowed to be contaminated.

Physical water scarcity is most often caused by drought.
Droughts can be declared after as little as 15 days without
rainfall and can centinue indefinitely. The longest drought in
recorded history lasted for 400 years in the Atacama Desert in
Chile.

Droughts are a natural process that have occurred
throughout history. The effects of prolonged drought often
depend on both severity and how pecple react to them.
Sometimes, like in California, drought can simply lead to a
change of what is easily available for purchase in grocery
stores. Others, like the 1900 drought in India, which had a
death toll between 250,000 and 3.25 million, can lead to mass
migration, famine, and humanitarian crisis.

Droughts can start unexpectedly and last indefinitely. This
unpredictability is a major factor in what turns droughts
from unpleasant to deadly. Climate scientists are currently
predicting that the same human activities which will lead to
global climate change will trigger more droughts. The
droughts triggered will be less natural and therefore even
more unpredictable.

Economic water scarcity, on the other hand, is the result of
plentiful water resources being mismanaged and leading to
contamination and disease, sometimes as a result of war or
conflict. In addition, water cveruse and pollution are
increasing global water insecurity. Contamination occurs
whenever something is mixed into a water supply; if it is
harmful to humans, animals, or plants, it is then referred to
as pollution. Pollution can be as simple as a dead animal
dumped into the river that supplies a village, or as complex as
large multinational corporations building factories that
pollute water sources

Worldwide, water is not always contaminated as a result of
corporate pollution. In Mexico City, after the 1985 earthquake
damaged the pipes and tunnels the city had built for water,
the government could not manage to repair the damage. Now,
over 30 years later, the city still does not have access to clean
drinking water. When a region is embroiled in a conflict or
war, it becomes much more difficult for the people in that
region to access water.

Water is life. That’s not an exaggeration or a metaphor. Large
swalths of people die from waterborne diseases, or from
dehydration, as a direct consequence of water scarcity. A
human body is largely made of water, and daily water intake
is absolutely necessary to replenish that. Water is more
important for survival than food, and global access to water is
a fundamental human issue.



Sub questions

Question Number : 156 Question Id : 5861804212 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The passage is mainly about:

Options:

1. = droughts

2. = effects of droughts

3. v worldwide water scarcity

4. = effects of water borne diseases

Question Number : 157 Question Id : 5861804213 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of these statements is NOT true of economic water
scarcity?

Options:

1. v Not enough natural water resources.

2. = Water resources are not managed well.
3. » Water is allowed to get contaminated.
4. = Qver use of water.

Question Number : 158 Question Id : 5861804214 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

How did people react to drought in California?

Options:

1. = They were not affected by it at all.

2. » They migrated to different places.

3. * They managed with less water.

4. v They started buying water from stores.

Question Number : 159 Question Id : 5861804215 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which one of these is a reason for economic water shortage?

Options:



1. = droughts

2. v resources not being managed well

3. = the government not addressing the issue
4. = climate change

Question Number : 160 Question Id : 5861804216 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The effects of long lasting droughts depend upon:

Options:

1. = Climate conditions of the particular region.

2. » How water is managed in that region.

3. v How severe they are and how people react to them.
4. = How polluted the water in that region is.

Question Id : 5861804211 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (156 to 160)

Question Label : Comprehension



Read the passage and answer the following questions:

Consider yourself lucky whenever you pour yourself a glass
of water. Today, on every continent in the world, there are
people who, because of water scarcity, spend their entire
day looking for clean water.

According to reports the United Nations created as part of
the Water for Life initiative and the non-profit water.org, one
in ten people do not have access to clean water.
Worldwide, that is roughly 783 million people. Imagine 783
million people who struggle daily for the clean drink of

water that luckier people wake up to.

There are two kinds of water scarcity. The first is physical
water scarcity, which occurs in areas without natural water
resources, such as deserns like the Sahara. The second is
economic water scarcity, which occurs in areas where there
are enough water resources for people to use, but they are
poorly managed and allowed to be contaminated.

Physical water scarcity is most often caused by drought.
Droughts can be declared after as little as 15 days without
rainfall and can continue indefinitely. The longest drought in
recorded history lasted for 400 years in the Atacama Desert
in Chile,

Droughts are a natural process that have occurred
throughout history. The effects of prolonged drought often
depend on both severity and how people react to them.
Sometimes, like in California, drought can simply lead to a
change of what is easily available for purchase in grocery
stores. Others, like the 1900 drought in India, which had a
death toll between 250,000 and 3.25 million, can lead to

mass migration, famine, and humanitarian crisis.

Droughts can start unexpectedly and last indefinitely. This
unpredictability is a major factor in what turns droughts from
unpleasant to deadly. Climate scientists are currently
predicting that the same human activities which will lead to
global climate change will trigger more droughts. The
droughts triggered will be less natural and therefore even

more unpredictable.

Economic water scarcity, on the other hand, is the result of
plentiful water resources being mismanaged and leading to
contamination and disease, sometimes as a result of war or
conflict. In addition, water overuse and pollution are
increasing global water insecurity. Contamination occurs
whenever something is mixed intc a water supply; if it is
harmful to humans, animals, or plants, it is then referred to
as pollution. Pollution can be as simple as a dead animal
dumped into the river that supplies a village, or as complex
as large multinational corporations building factories that
pollute water sources

Worldwide, water is not always contaminated as a result of
corporate pollution. In Mexico City, after the 1985
earthquake damaged the pipes and tunnels the city had built
for water, the government could not manage to repair the
damage. Now, over 30 years later, the city still does not
have access to clean drinking water. When a region is
embroiled in a conflict or war, it becomes much more

difficult for the people in that region to access water.

Water is life. That's not an exaggeration or a metaphor.
Large swaths of people die from waterborne diseases, or
from dehydration, as a direct consequence of water scarcity.
A human body is largely made of water, and daily water
intake is absolutely necessary to replenish that. Water is
more important for survival than food, and global access to
water is a fundamental human issue.



Sub questions

Question Number : 156 Question Id : 5861804212 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The passage Is mainly about:

Options:

1. = droughts
2. » effects of droughts
3. v worldwide water scarcity

4. = effects of water borne diseases

Question Number : 157 Question Id : 5861804213 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of these statements 1s NOT true of economic water

scarcity”?

Options:

1. ¥ Not enough natural water resources.
2. » Water resources are not managed well.
3. = Water 1s allowed to get contaminated.

4. = Qver use of water.

Question Number : 158 Question Id : 5861804214 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

How did people react to drought in California?

Options:

1. = They were not affected by it at all.
2. = They migrated to different places.
3. = They managed with less water.

4. v They started buying water from stores.



Question Number : 159 Question Id : 5861804215 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which one of these Is a reason for economic water

shortage?

Options:

1. = droughts
2. v resources not being managed well
3. = the government not addressing the issue

4, = climate change

Question Number : 160 Question Id : 5861804216 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The effects of long lasting droughts depend upon:

Options:

1. = Climate conditions of the particular region.
2. » How water Is managed In that region.
3. v How severe they are and how people react to them.

4. = How polluted the water in that region is.
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Question Number : 161 Question Id : 5861804217 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TSI 49T 2eC §?

Options:

1. * T
2. % dcdd
3. = Tace

4, v TS

Question Number : 161 Question Id : 5861804217 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

RSy Far ersg &7

1p.wa;a’
2. = dcdH
3. = fagdef
4. v 2R

Question Number : 162 Question Id : 5861804218 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

foed § O Hid T 5 did &7

Options:

1. = shUlC




2. % Y

o,

3. v e
4. = hHT

Question Number : 162 Question Id : 5861804218 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

99 & T BT 9T U dogd g7

Options:

1. * DUTC
2. % P

3. v &
4, * hHA

Question Number : 163 Question Id : 5861804219 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

g & T A 9T e IGH g7

Options:

1. v qur
2. = Ta¥er
3. = T

4. q

Question Number : 163 Question Id : 5861804219 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

foeoT # & hieT IT 5 dcdH &7

Options:

1. v oT
2.« Taver
3. = dr@rm
4. = qH

Question Number : 164 Question Id : 5861804220 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

T & [, oIl aATelT SIeC 3

Options:

1. * giader
2. v qiduer
3. = giaere
4. % GIvE

Question Number : 164 Question 1d : 5861804220 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

far & g adelr drell e &:

Options:

1. = gfaay
2. v ufaNy
3. = yfdery
4. = gAY

Question Number : 165 Question Id : 5861804221 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. = IMIRTT — AT
2. % TIU0T — HTeATYr
3. # AT ddh — gl

4, v TMgAT — #I0T IR

Question Number : 165 Question Id : 5861804221 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25
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Options:

1. = ARG - AT
2. = TIYUT - ATeATIO]




3. * HAIUT deh - gl

4, v Gl - HAIUT dh

Question Number : 166 Question 1d : 5861804222 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

el [ YR Dl GAT 37

Options:

1. * TTdaTad
2. ¢ HIddh
3. % TTchaTad

4. * STddT<ID

Question Number : 166 Question Id : 5861804222 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘Tolel’ Tohd TR hl AT &7
Options:

1. = ggriaraeh

2. v HIddr<<h

3. » =lFdardeh

4. = AT

Question Number : 167 Question Id : 5861804223 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

DI G BT TP LAY 3

Options:

1. = T9T
2. % ogT
3. v &hET
4. % J9T

Question Number : 167 Question Id : 5861804223 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25




‘Tl TAITH F] ITUTATT Eretyor &:

Options:

1. = ogm
2. % 4T
3. v &ar
4, = ST

Question Number : 168 Question 1d : 5861804224 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TUDIET [T TP DT farQruor 27

Options:

l.v"EU'IEl'IW

2. * JETATIN
3. * TILHTO e
4, » GreAREG

Question Number : 168 Question 1d : 5861804224 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

THBTAT TFT W T TFwor §7?

Options:

1. v JUTATh
ot

2. » EATATIHh
3. % JRATIT sk
4. % TSAIHF

Question Number : 169 Question Id : 5861804225 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

g # armdd UTq B

Options:

1. % BIeT
2. % TrgAT




3. = gfer
4, v SIAT

Question Number : 169 Question Id : 5861804225 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

freT & sthash aTq &

Options:

1. = ShIcal
2. % GrgaT
3. # o[l
4. v THeIT

Question Number : 170 Question Id : 5861804226 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘org U g1 TaT g1’ ared # Tohar Tererumr g

Options:

1. » ag
2. v Ud gt
3. = T

4 =3

Question Number : 170 Question Id : 5861804226 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘e O & AT &I° g A foear Eeyor &:

Options:

1. = dg
2. v 0H &l
3. » T
4, = &

Question Number : 171 Question 1d : 5861804227 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



e T wT Forede, g :

Options:

1. v Uid + T®h
2. % Jid + Id
3. % Tdl + U
4. % gaqr + I®

Question Number : 171 Question Id : 5861804227 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AR T 1Y aTog gIem:

Options:

1. v Ufd + T
2. = gfd + I+
3. % Udl + Teh
4. = 9AT + Ak

Question Number : 172 Question 1d : 5861804228 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

THUTTOY # DI T U 37

Options:
1. = dcgey
2. % T&

3. v gy
4, » IEFATHTT

Question Number : 172 Question Id : 5861804228 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TRUTOr H il TT TAT &7

Options:

1. dcgsy
2. = 3ged




Question Number : 173 Question 1d : 5861804229 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

G H Thd UG T YA 3T 32

Options:

1.9
2. % 9
3.v Y
4. » &ur

Question Number : 173 Question 1d : 5861804229 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘H’T&ﬂw’ﬁﬁmmﬁwm§mﬁ?
Options:

1. = &

2. % el

3. v §H

4. = &T0T

Question Number : 174 Question Id : 5861804230 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Ve[ # Thg Yo T U FaIT g2

Options:

1. =
2. v
3. % &

4. =¥

Question Number : 174 Question Id : 5861804230 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



‘e # fopg Ucdd E|'€|’I?T§31T%‘?

Options:

1. =

2. v 3
3. % T

4. = H

Question Number : 175 Question 1d : 5861804231 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

g & &I 97 srec; SifelT T 37

Options:

1. * TG
2. % TeTuufy
3. % o

4, v e

Question Number : 175 Question 1d : 5861804231 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

foeT H hidd T 2Uec TAITOIIT Tal &7

Options:

1. = TFhI
2. = feogoly

3. % ¢af
4. v Tcohe

Question Number : 176 Question Id : 5861804232 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T D TZY & aATelT g TS~ DT IEIGI g7

Options:

1. v 3T U=

2. % G-H Uca¥



3. » TI9IUT UcE=er
4. = TR Uce~e

Question Number : 176 Question Id : 5861804232 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T T IS o Tl [hT Ueaed T 3S8I0T &7

Options:

1. v FaT Ugded
2. * HAIH Ugeed
3. = T99IYUT Uygeeyy
4. = ToRIT UgEeY

Question Number : 177 Question Id : 5861804233 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 178 Question Id : 5861804234 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. v O3l ATy
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Question Number : 179 Question 1d : 5861804235 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 179 Question 1d : 5861804235 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

yeshA T ECC A e AT AT A §7

Options:




1. = Ao Gigar § &S]
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4. v TST AT giEar &

Question Number : 180 Question Id : 5861804236 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 180 Question Id : 5861804236 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Group Maximum Duration : 0

Group Minimum Duration : 120

Show Attended Group? : No

Edit Attended Group? : No

Break time: 0

Group Marks: 20

IsthisGroup for Examiner?: No



Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

General Hindi?

Section Id : 586180205

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 12

Number of Questionsto be attempted: 12

Section Marks: 20
Sub-Section Number: 1
Sub-Section Id: 586180282
Question Shuffling Allowed : Yes

Question Number : 181 Question Id : 5861804237 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

oA D TIIFATT 3

Options:

1. = A
2. % QL
3. % o9
4. v qHT

Question Number : 181 Question Id : 5861804237 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Teg, &1 TAIAT &:

Options:

1. = HgeT
2. = JIA
3. = faater
4. v TReT

Question Number : 182 Question Id : 5861804238 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25




‘STeel T TdIIard! Ta! 8.

Options:

1. v 20
2. % WY
3. =Y

4. « T,

Question Number : 182 Question Id : 5861804238 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘FTEel’ T UATIGTT el &

Options:

1. v BH
2. = AY
3. % EHdl

4. » g

Question Number : 183 Question 1d : 5861804239 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

DERY Toh gt TaTIarT 32

Options:

1. = g1

2. % 00
3. v ¥
4, = grdt

Question Number : 183 Question Id : 5861804239 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘PRl Tl TAERT §7

Options:

1. = HHC
Q.WT':F



3. v @8
4, = gy

Question Number : 184 Question 1d : 5861804240 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TR ThganT Taiaearit 32

Options:

1. = oT&HT
2. v gLEGAT
3. % T
4, % e

Question Number : 184 Question Id : 5861804240 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Options:

1. = SI&AT

2. v OIEEd

3. = ofdl

4. = GTAT

Question Number : 185 Question Id : 5861804241 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

v T AT TE 2

Options:

1. % g

2. % T
3. ¢ 9T
4. = Q9T

Question Number : 185 Question Id : 5861804241 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



WL HT TIEERT A6l 57
1.¥E£F6

2. & Il
3. v FIoT
4. % TeTanT

Question Number : 186 Question Id : 5861804242 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Iy’ Dl el e 3

Options:

1. = TRy
2. v 3UHY

3. * 9§y
4. % Ty

Question Number : 186 Question Id : 5861804242 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

IchY FT [AATH oUsg &

Options:

1. % ToTsepy
2. v IRy

3. = HaY
4. = THRYOT

Question Number : 187 Question Id : 5861804243 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

I PT (AT G
Options:

1. v g4I
2. % W



3. % 9%
4, = QTeId

Question Number : 187 Question Id : 5861804243 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Options:

1. v GOTH
2. = 3THH
3. % oRay
4. = qmRAA

Question Number : 188 Question Id : 5861804244 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘Fgell Thaer Tdell g7

Options:

1. * 3MTRIST
2. % TTdTel
3. = TLAlDh
4. v el

Question Number : 188 Question Id : 5861804244 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Options:

1. = 3ThTeT

2. % Yrdrel
3. % LR
4. v IR

Question Number : 189 Question 1d : 5861804245 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



“CIGHUT DI YOI TP TH FdIge gl T Uidh @ TGiTchd e DT Telelid
gnr-

Options:

1. » 3=Id
2. % 3ed
3. v I
4. » Sifeq

Question Number : 189 Question Id : 5861804245 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TEAT T Afedd S@H THA =AY g1 =1 afefad & T@ifehe
eTec, ol Tdelld G-

Options:

1. = 3=
2. = 3add
3. v g9
4. = Sad

Question Number : 190 Question Id : 5861804246 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT BT (Al &

Options:

1. = O

2. % oW

3. % e
4, v QLT

Question Number : 190 Question Id : 5861804246 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

THAET T @ellH &

Options:




2 % dy

3. ® 3dldal

4. v HIFATET
Sub-Section Number: 2
Sub-Section 1d: 586180283
Question Shuffling Allowed : Yes

Question Id : 5861804247 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (191 to 195)

Question Label : Comprehension

Sl T&d WY TEer el UGehd U8 14 T[T & Iqa Iy

eI Weh gl # HIXT 3R T A NE 3T GATS Dl o U=T Dl ag
3T WY a0 31 Y & T T 31y Fquf Sfiteer |rer & St g1 & Tt
2dT 3 3 T &1 eNfudl 7€ & Tottg car TLMET T Teel U@l g a1, oo i
UTTeld ATAT ST gt gl 39D acded & JAY arEdiad ATl $r aredod
gt 81 G & MIUIT 1 3R U7 & U7 Y 3rferep wgear ot g AR A
T JULT BT gl FAT UGT TS JUTST SN G P ST Siled T&rT L
3T qh & UTAT, g1l 9 didk 3T Pt 39 ToidT & 3T 0T G T3 A
TG YichanTer 31X T YTGTId g7 ATAT 31 ST DI Tqa-adT1 3 JATAT
S AT Jod & Telq HIRT MTSie oiedl Th THTH el & "rers(e 6180
31U Dl TV Bt H Ghel L1l HILT DT Tg GUYUT Siterd gAT Tolq 31T
IR RGO

Sub questions

Question Number : 191 Question Id : 5861804248 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TerTer # fohg @ rdat or Seoid 87

Options:

1. v 81T



2. % WgIedr
3. % FeMaT
4, » MTUaT

Question Number : 192 Question Id : 5861804249 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

RO T 37 g &

Options:

1. = =T

2. v QSN
3. * @D

4, % giald

Question Number : 193 Question Id : 5861804250 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

qTeqed” T Y &

Options:

1. » 31X
2. % T
3. % Yith

4, vHg

Question Number : 194 Question Id : 5861804251 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ST T 319 3

Options:

Question Number : 195 Question Id : 5861804252 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

TTETTSr § “ETeer T 3T g1 gl gahar:



Options:

1. % &g

2. v STec GHYT
3. = Y™
4, = T@IEC

Question Id : 5861804247 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (191 to 195)

Question Label : Comprehension

ST T8 910 I1SATer T Ygehd T5 - TLal & Sccl ST’

ALIGINA Fd FiAAT A A AT TP o o7 e TATST HT
SFedell T g8 30e HT og &1 g & Ig1 & 379 gqor
HAlca 9@ # 3dr &1 @ o ar 2ar g 3T o g5 enNi™d| sl &
Hog 3T Jelar ar ameet gcelr § &, Fur dr urferd Avar i
Jar gl 3dh dicHed & HHE drEdider AT S dlcded
SUETOT &1 T T afUAT AT 3 U7 H UH T 3176 FAged
Sl § 3T AT hr 3UET FIAT &1 FAT TET 3TeRT THTST Sl
&7TT &1 3T EHicg U T 3T deh & 9T, sl e d

I 3T T 3H =T T 30 TAT & @ o1 ST ATodehral
AT ot urgiaes & S1aT &1 ST ST Tadeadr 3 JATdr o8
AT Hed & [T AR 3Meiigel osar @M1 JATH Sieel &
STae[e ART 3196 T TATUT Fel H el &I AT FHT TG
FENqUT Siael AR Tl 3ieT & wrafares &

Sub questions

Question Number : 191 Question Id : 5861804248 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



AT H Tohd HIRET HT Seold g7

Options:

1. v ART
2. » H&ear

3. % A

Question Number : 192 Question 1d : 5861804249 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

GO’ T 3T BT &

Options:

1. = cded
2. ¢ qcfrl?ﬁ'ﬂ'
3. % heYTeleh
4. = gretd

Question Number : 193 Question Id : 5861804250 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Greged’ T HT T

Options:

1. = FHIGI

2. % &I
3. % Hiod
4. v g

Question Number : 194 Question Id : 5861804251 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3TN’ T 379 &

Options:



x 3TOTE

x 3TeTUTarT
3T&TT ol AT
% TEIOT

Question Number : 195 Question Id : 5861804252 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT H ‘T T 3R 1T & HehcT:
Options:

1. = SeIeT
2. v eE AN
3. = cadled
4

ol
<

# Heh[dC

Sub-Section Number: 3
Sub-Section 1d: 586180284
Question Shuffling Allowed : Yes

Question Id : 5861804253 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (196 to 200)

QQuestion Label : Comprehension



STl T MY MEITer @l Ugeht U8 T8 T[T & Iqae iy

ISR 2TEE YA 7 ‘e BIaA” § T9F TG o Ied e I
AT T ATl GIRAG T # TH-UTABTAT T TehT< Tager €7 & g o7 o
3R WiigTcdeh TTAeATY Tgwel ST el GoT G DL TgT 4T 3MTeliaT & Uget
IR T TAnT UF-UTAehTal # BU eleil J&ad JUIgT 3N et §

gIdT g1 AT el ¥ 3 T | G ATell SATelleAT el “GHTeA AT
SiTien & 3rMATad [haT 3, ST 3¢ AT 0T W T feraa=Tl 39 T i
THE UMD # ARG & HUTS # ictera T (1868 ) 3R giiwig
it (1873 .) H FHIYT & &IW Tgd A1 3+ Hgcaqul UrAdr3i §
dTeTehouT He i Tgwel UeIw (1877 .) UdTy Y Ay i SITgur (1883
%.) 3T WHErT &f “3rie, preesr (1881 $.) oh 59T 9wy ey &r
ATeedh AT Ferdery (1886 %.) I # 3TT| STelpol W 3 YHe
39 1 D GHIGT il WS ST o FHTeI ST BT STUD AT FgT FHTCAT |
9g St 3 39 T o UTdgITaehdT Pl TSdTel i gl

Sub questions

Question Number : 196 Question Id : 5861804254 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TEISr # v AT & oig & Jeeid g7

Options:

1. v Rd~g g
2.« TEA&T m
3. % YT JI

4. » WS

Question Number : 197 Question Id : 5861804255 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Tager a1 3 3

Options:

1. = 318®
2. v 9gd 3T




3. = AT
4. = PH

Question Number : 198 Question Id : 5861804256 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TENSr § Jeatidd T Pl 3MTel T Bl 35T AT

Options:
1. % T[0T & Tereio
2. % T o=

3. v T[0T 3T @ Tdela
4. % GHSTATEST T

Question Number : 199 Question Id : 5861804257 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘ATATga @ 3 &

Options:

1. v Sleeli@q

2. % ofT&d
3. % giod

4, % TEHIET

Question Number : 200 Question Id : 5861804258 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

9 St 3 “FgT FATCAT e ¥ fhd T1ee i 3ATeriaT Br?

Options:
1. » Tg=T Uy

2. * ST

3. * 3MFC Prefest
4, v ST Tadeas

Question Id : 5861804253 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (196 to 200)

Question Label : Comprehension



sl T8 a0 areATeT T Gesh I T qeEl & el Ifeiv

FedITRIIOT el VAT o ‘3HTelg Feagar H T Tk g
aAteeh’ <R & SIEATeN THITRIT ol fohe] Sefeht IE Toloier g
% felay k1 dE AR T TAGRT & AT ARG JIT A I3-
AT T FhTele [dTel T & glel o= o7 3R AlfgTcaeh
UIeRTe f@edl ST o T TAG T @7 27| el & dgel
TOT T fahre aF-af 13T H ST arell TEdw TATET 31
fosel & efScama g &1 3Ry el & 36 T H glel arell
MTAAT s ‘AT e¥eh & HTRfgd Far &, g 38T
AT 90T SV H7 fqa=er| 36 I HT T7E TiERET 7 ARAG *
HUTesT # shidawsr gur (1868 §.) 3w gRewy =feshr (1873 3.)
H HART & T Td F| 3T Agea o1 IrEni3il # STerpsor
g T TEedl TSI (1877 2.) UdTd «ARTIOT THSN &I FEAr
(1883 2.) 3 UHTe T ‘3Telg Fgioar (1881 ) o7 @r
AT AT T oATcsh GANAT TIIaL (1886 ) Uehrer H
3T| STeleh™0T HE 3 WHES o S sliceh shl HHIGT 1| Hg
ST o HHATNTAT T ¥k AT “Heal FHTeNTAT | 9 ST o 39

ATeh o UTAsIashdT I Usdrel @l gl

Sub questions

Question Number : 196 Question Id : 5861804254 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

MegTer A R IaT F AT T 3ol &7

Options:

1. v SHNéirg ]

2. « fegadr ga




3. * Fel T
2 2

4. = QETE I3

Question Number : 197 Question Id : 5861804255 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ﬁg?»r T T &

1. = 31Tk
2.#6@31'@3?
3. = faferse
4. = HH

Question Number : 198 Question Id : 5861804256 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

IMEITT H SealTPd a7 hT AT FT 38T .

Options:

1.w3jerTch|
2. % AN & 3T

3. v JOT &IV T fad<a
4. » FATSTLATEAT TaaTel

Y
dlel

af

)

Question Number : 199 Question Id : 5861804257 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FTATET 1 3T &

Options:

1. v 3Teer@a

2.
3. = gfad
4



Question Number : 200 Question 1d : 5861804258 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HE ST o ‘Goar AT e & T atess Fr Mrergar hre?

Options:

1. = f&e<r o

2. = STEHAUT

3. » 3MTeiG HIGIsell
4. v GAEAT TGIAT




